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Question Number : 1 Question Id : 60092911062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

GIK, MOQ, SUW, [ EGI
Options :
1. ¥ YAC
2. % YZB
3. % ZBD
4. % X7ZB

Question Number : 1 Question Id : 60092911062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad s1&R §aan ¥ Jud Ug Jrd e

GIK, MOQ, SUW, [ EGI
Options :
1. ¥ YAC
2. % YZB
3. % ZBD
4. % X7ZB

Question Number : 2 Question Id : 60092911063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Dollar

2. Doll

3. Dominos
4. Donkey
5. Dealer

Options :

1. % 21345
2. % 31245
3.9 52134
4. % 54321

Question Number : 2 Question Id : 60092911063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Dollar
2. Doll




3. Dominos
4. Donkey
5. Dealer

Options :

1. % 21345
2. % 31245
3.9 52134
4. % 54321

Question Number : 3 Question Id : 60092911064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. * Zebra

2. % Deer

3. % Lion

4. % Elephant

Question Number : 3 Question Id : 60092911064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T fawed & 9 & Te Y Rid 3 90 § | 810D, Uh [Aded 31 diF &1 dve ol ¢ | 34 [dded &1 78 B oIl 37 I 3T 5|
Options :

1. % QeRT

2. % fgRur

3. ¢ 3R

4. % gredi

Question Number : 4 Question Id : 60092911065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Beanbag : Chair
2. # Rice : Chapatti

3. ® Tea : Coffee

4. ¥ Door : Window

Question Number : 4 Question Id : 60092911065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu Tt fiwedl A @ & e Rfd %  THH 81 gTdiTd, T faded 30 diF o1 oRE el ¢ | 39 fdshed o1 Iu= &Y oY 30 ¥ 3T 5|
Options :

1. % Kﬂ:fa'r[w

2. ® 919 ; Ut

3. % O HIKI]

4. ¢ STl : RISht

Question Number : 5 Question Id : 60092911066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Dance : Choreographer :: Football : ?
Options :

1. ¥ Coach

2. % Principal

3. % Professor

4, % Lecturer

Question Number : 5 Question Id : 60092911066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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I TR :: Hedld : 2
Options :

1. ¢ UfR&p

2. # Y JAYD

3. % Y

4. % RATT

Question Number : 6 Question Id : 60092911067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Cobbler : Shoes :: ?
Options :

1. ¥ Barber : Hair

2. % Plumber : Cloth
3. % Tailor : Wood
4. # Carpenter : Tap

Question Number : 6 Question Id : 60092911067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T B Sl Uy B &) 7S Siet A 99 M YR 9 J&fid B

ﬁ?ﬁ:aj::?
Options :
1. 18 : 91

2. % WIHAY : hUS]
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Question Number : 7 Question Id : 60092911068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if car is called aeroplane, aeroplane is called ship, ship is called train, train is called truck, and truck is called
submarine, then what arrives on a platform?

Options :

1. ¥ Submarine
2. % Train

3. ¥ Truck

4. % Ship

Question Number : 7 Question Id : 60092911068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YA dIs U H, af HR &1 gaTs ST Hel 741 8, §ATs STaTSl & STgTS] bl 1 8, SIS Bl STl Hel T 8, ISl bl Th Bl
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Options :

1. % gge

2. % YA

3. TH

4. % SE

Question Number : 8 Question Id : 60092911069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, '754' means 'lake is sea', 582 means 'ocean is river', and '809' means 'ocean and pond', then what will be the code of 'river'?
Options :

1. %7

2. % 8



3.%5
4.9 2

Question Number : 8 Question Id : 60092911069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Udh BIEGEAR] ff, 754" DI G{?f% 'lake is sea', 582 DT 31’&% 'ocean is river' 3R '809' BT 31’&% 'ocean and pond', @ 'river BT HIS HT EﬁTlT?
Options :

1. =7

2.% 8

3.% 5

4.2

Question Number : 9 Question Id : 60092911070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anshuman occupies the middle position in the row by shifting 7 places towards his right. If a total of 33 persons were sitting in the row, then
what was the original position of Anshuman from the right end of the row?

Options :
1. #* 10th
2. % 17th
3. % 18th
4. ¥ 24th

Question Number : 9 Question Id : 60092911070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #* 10th

2. % 17th



3. # 18th
4. % 24th

Question Number : 10 Question Id : 60092911071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to a man in the photograph, Abha said, "The husband of his father's only son's daughter is my son-in-law". How is the man's father
related to Abha?

Options :

1. * Husband

2. * Father's brother
3. ¥ Father-in-law
4. * Brother

Question Number : 10 Question Id : 60092911071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfd

2. % U1 TS

3. ¢ TR
4. % Y

Question Number : 11 Question Id : 60092911072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two conclusions numbered I and II. You have to decide which of the conclusions follow.
Statement: "If you irritate me, I will scold you."

- A father warns his child.
Conclusions:



I. The child will stop irritating him after the warning.
II. The child will continue to irritate his father.

Options :

1. % Only I follows

2. % Only II follows

3. % Both I and II follows
4. ¥ Either I or II follows

Question Number : 11 Question Id : 60092911072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® $HId [ IRV HRAT §

2. % Had I 3IERU BT §

3. % 1 3R 11 GF SER0 PR §
4.« T 1111 TR AT &

Question Number : 12 Question Id : 60092911073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, supports the given statement.

Statement: Should we declare a war on our neighbouring country Pakistan?

Arguments:
L. Yes, as the latter has been involved in many terrorist activities that happened in India. This is the only way to stop them from doing such



practices.
II. No, war will cause a great loss of wealth, infrastructure and human lives.

Options :

1. # Only argument I is strong

2. % Only argument II is strong

3. # Both argument I and argument II is strong

4. # Neither argument I nor argument II is strong

Question Number : 12 Question Id : 60092911073 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % %ad db 1 Aolgd §

2. ¢ 6Had do 11 H99d §

3. % qab [ 3R o 11 GHI Hoigd §

4. % Jdb [ 3R A8 db 11 Aogd ©

Question Number : 13 Question Id : 60092911074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the incorrect number from the following series:

17, 34, 102, 408, 1020
Options :
1. % 34



2. 91020
3. # 408
4. % 102

Question Number : 13 Question Id : 60092911074 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad sRae & 9 TTad W 1d B

17, 34, 102, 408, 1020
Options :

1. % 34

2. %1020

3. % 408

4. % 102

Question Number : 14 Question Id : 60092911075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following number series :

155,172,  ,166, 143, 160
Options :
1. = 158
2. % 179
3.9 149
4. % 133

Question Number : 14 Question Id : 60092911075 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa der gadr o qw ug I1d &



155,172,  , 166, 143, 160
Options :
1. % 158
2. %179
3.9 149
4, % 133

Question Number : 15 Question Id : 60092911076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between men, smokers and brothers?
Options :

REOle
©

2. %

QO
O

Question Number : 15 Question Id : 60092911076 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3.¢
4. %
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Options :

.Oo0
©

2. %

QO
O

Question Number : 16 Question Id : 60092911077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following diagram, square represents women, circle represents fat people, triangle represents chess players and rectangle represents
runners. Which letter represents women who do not play chess and are not runners?

3.
4, %



Options :
1. % F
2. % H
3.¢]
4. % G

Question Number : 16 Question Id : 60092911077 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % F

2. % H



3.¢¥]
4. % G

Question Number : 17 Question Id : 60092911078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the pair which is different from the pair in the question figure.

-
=]




Question Number : 17 Question Id : 60092911078 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 18 Question Id : 60092911079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?

K

Options :

e

3. ®

4.9

Question Number : 18 Question Id : 60092911079 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ o W SR i Uy e &1 R vl 82




Options :

N\

4. ¢

Question Number : 19 Question Id : 60092911080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the following question figure (X).



Question Number : 19 Question Id : 60092911080 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 60092911081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which satisfies the same conditions of placements of the dot as in the question figure (X).

/‘T“\J

(X}
Options :

4




/A

| %
P
S

Question Number : 20 Question Id : 60092911081 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. %

3.+
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Is this Group for Examiner? :

Section Id :

General Awareness
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929709
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 60092911082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following forts was built by Rao Jodha in 1459 A.D. when he shifted his capital from Mandore?
Options :

1. ®* Amer Fort

2. * Nagarjunakonda Fort

3. % Shergarh Fort

4. ¥ Mehrangarh Fort

Question Number : 21 Question Id : 60092911082 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 forer g7i &1 T 1450 o 1a ST §RT 351 711 U1, S7a 314 31O IS I HER U RIFIARG faar dm
Options :

1. ® 3R g

2. % AATSHD ST g

3. % TG g

4. UGG gl

Question Number : 22 Question Id : 60092911083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pasi Kongki, a folk dance performed to narrate the social work that the Pasi has done, is associated with which of the following states?
Options :

1. % Kerala

2. % Arunachal Pradesh

3. ¥ Mizoram

4. % Sikkim

Question Number : 22 Question Id : 60092911083 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

URR DT, IRl gRT fob T 7T WIS BTl b1 qUH bR & fore o S arert eftep -7, FRaferfad & 9 fovar ey 9 sifera 82
Options :

1. % D

2.  IRBUTEA UGRT

3. % feiR|

4. % THfdwy

Question Number : 23 Question Id : 60092911084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is incorrect?

Options :

1. ¥ Gross National Product = Gross Domestic Product - Net Property Income from abroad
2. # Revenue deficit = Total revenue expenditure — Total revenue receipts

3. # Fiscal deficit = Total expenditure — Total receipts excluding borrowings

4. % Net National Product = Gross National Product - Depreciation

Question Number : 23 Question Id : 60092911084 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad # ¥ & 91 7Tad 82
Options :

1. ¥ G d AP IATG = Ghd T 3G - [T ¥ Y5 Fufy ama
2. % [ °IET = $df Iold Y - ol oied Uit

3. % SN Ulel = pdl AT - IYR Pl BISHR Hol Ui

4. % g BT IdTG = b APT IATG - Fe51d

Question Number : 24 Question Id : 60092911085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, mandis have been integrated with electronic National Agriculture Market (e-NAM).
Options :

1. # 2500

2. % 2000

3. % 1000

4. % 1500

Question Number : 24 Question Id : 60092911085 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 & oI T GIN0T & SR, HiSTT 1 el LTI PV SR (-NAM) P T THIP (b1 T 5 |
Options :

1. # 2500

2. % 2000

3. % 1000

4. % 1500

Question Number : 25 Question Id : 60092911086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The unit of self-inductance is



Options :

1. ¥ Henry
2. % Ampere
3. # Candela
4. # Kelvin

Question Number : 25 Question Id : 60092911086 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G-IREd DI SHTS gl
Options :

1. ¥ &I

2. % TR

3. % dfean

4. % bfcad

Question Number : 26 Question Id : 60092911087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the uppermost layer of the atmosphere.

Options :

1. # Mesosphere
2. % Stratosphere
3. ¥ Exosphere

4. # Jonosphere

Question Number : 26 Question Id : 60092911087 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JIgHSH &1 Ted S WA 7 |
Options :




1. % ggAUSA
2. % JHATGHUS A
3. ¢ SIgHUST
4. % THSA

Question Number : 27 Question Id : 60092911088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sabarmati river originates from which of the following mountain ranges?
Options :

1. # Satpura

2. % Aravalli

3. # Vindhayas

4. % Eastern Ghats

Question Number : 27 Question Id : 60092911088 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IreRAdT et Fafeiad # 9 f5g udanmen I 3w gidt 82
Options :

1. % Gdgsl

2. ¢ 3R

3. % fdeg

4. % gdiure

Question Number : 28 Question Id : 60092911089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following rivers is also known as Red river in India?
Options :

1. % Yamuna



2. ¥ Brahmaputra
3. % Kosi
4. # Gandak

Question Number : 28 Question Id : 60092911089 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied o ¥ fg 98 &1 WRd 8§ a1d 9 & 8 F ot S e g2
Options :

L% g

2. ¥ dqlyd

3. % D

4. % 18P

Question Number : 29 Question Id : 60092911090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Simon Commission visit India?
Options :

1. % 1910

2.9 1928

3. % 1922

4. % 1931

Question Number : 29 Question Id : 60092911090 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HISH HHIRM HRd B T Y12
Options :

1. % 1910

2.9 1928



3. % 1922
4. % 1931

Question Number : 30 Question Id : 60092911091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Battle of Palkhed fought?
Options :

1. # 1715

2. % 1731

3. % 1722

4.9 1728

Question Number : 30 Question Id : 60092911091 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UTeRdS &1 g el el 1T T2
Options :

1. #® 1715

2. % 1731

3. % 1722

4.9 1728

Question Number : 31 Question Id : 60092911092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals was known as the Saviour of Punjab?
Options :

1. # Lord Minto

2. % Lord Rippon

3. ¥ Lord Lawrence

4. ¥ Lord Mayo



Question Number : 31 Question Id : 60092911092 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad Isgurel 7 ¥ ford Uole & dRUER & =9 | ST STl 412
Options :

1. % @i fHa

2. % s Ruq

3. ¢ QI8 ARY

4. % Tls Hal

Question Number : 32 Question Id : 60092911093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of Organisation for Economic Cooperation & Development (OECD) is located in
Options :

1. % Vienna

2. ¥ Paris

3. # Geneva

4. ¥ New York

Question Number : 32 Question Id : 60092911093 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TEaNT 3R fAH TiTa+ &1 JATed A fREARI
Options :

1. % fqgen

2. v URY

3. % oM

4. % g4l




Question Number : 33 Question Id : 60092911094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of book and author is incorrect?
Options :

1. # My Life, My Mission - Baba Ramdev

2. % Listening, Learning and Leading - Venkaiah Naidu

3. ¥ Game Changer - Kapil Dev

4. % The Overstory - Richard Powers

Question Number : 33 Question Id : 60092911094 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied # § & W gead 3R aae & siel 7Tad 82
Options :

1. % TS AW, HTs AR - 9167 Imcd

3. ¢ TH IR - HiUA <9

4, % T INAENR] - TS urad

Question Number : 34 Question Id : 60092911095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states announced Swasthya Suraksha Saptah, a week-long lockdown from April 22 to April 29, 2021?
Options :

1. % Madhya Pradesh

2. % Mabharashtra

3. ¥ West Bengal

4. ¥ Jharkhand

Question Number : 34 Question Id : 60092911095 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fraferiad o 9 fore X0 = 22 30 F 29 3Ud, 2021 TP WA JR&f T8, Th T & AIB SIS B! UIvuN &1 g2
Options :

1. % T YR

2. % HeRIY

3. ® UigH ST

4, ¥ JRYUVS

Question Number : 35 Question Id : 60092911096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reliance's Jio Platforms and e-learning startup have been featured in Time Magazine's 2021 list of 100 most influential companies.
Options :

1. # Unacademy

2. ¥ Byju's

3. % Simplilearn

4. % Edukart

Question Number : 35 Question Id : 60092911096 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR & for WewhiRy SR 3-af1 wiesm™ DI TIZH TTOIA,2021 BT 100 T THIGRITS ST ST It & 2y foar gl
Options :

1. % 3FUBSH

2. % dIo[

3. % Ryciter

4. % TGHIC

Question Number : 36 Question Id : 60092911097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The first dedicated Wetland Conservation and Management Centre under Ministry of Environment, Forest and Climate Change was set up in

Options :

1. # Kolkata
2. ¥ Mumbai
3. % Chennai

4. ¥ Bengaluru

Question Number : 36 Question Id : 60092911097 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 U9 TTaRU1 BTG & ded UYH SHUd deds SRE0T 3R Uae &5 o 1O fasar T
Options :

1. % BIcADIdl

2. % 4o

3. ¥ TS

4. % 9T

Question Number : 37 Question Id : 60092911098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person should be at least years old to qualify to fill a seat in a Panchayat at any level.

Options :
1. % 35
2. % 30
3.¥21
4, % 25

Question Number : 37 Question Id : 60092911098 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fpf i TR R i A de A U affd Pl M FAIAHA _ d8 gl ARy



Options :
1. * 35
2. % 30
3.9 2]
4. % 25

Question Number : 38 Question Id : 60092911099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under Article , the President enjoys the power to proclaim the Financial Emergency.
Options :

1. % 365

2. % 360

3. % 370

4. % 355

Question Number : 38 Question Id : 60092911099 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG % dgd, AFUTd B faiia SMUTAPTE BT G B I &l U & |
Options :

1. ® 365

2. % 360

3. % 370

4. % 355

Question Number : 39 Question Id : 60092911100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following players won the Men's Singles tennis title in 2021 Barcelona Open Tournament?
Options :

1. ¥ Rafael Nadal



2. # Stefanos Tsitsipas
3. # Daniil Medvedev
4. # Roger Federer

Question Number : 39 Question Id : 60092911100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ O forg faaret 7 2021 SIRIAAT 3fiuH gafde @ goy tahd <9 &1 fadre siar
Options :

1. ¥ XWPIUT STl

2. % WG RYdRYy

3. % S Agdda

4. % IR BER

Question Number : 40 Question Id : 60092911101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India has bagged =~ medals at the 2021 AIBA Youth Men's and Women's World Boxing Championships held in Kielce, Poland.
Options :

1. % 6

2. % 14

3.% 8

4. ¥ 11

Question Number : 40 Question Id : 60092911101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR A Hicd, Uidis & ST 2021 AIBA JaT UV 3R Higdl fay gabameh dUa-iRMy  Uad oid o
Options :

1. % 6

2. % 14




3. % 8
4.+ 11
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Question Number : 41 Question Id : 60092911102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arithmetic Ability

3
600929437

Arithmetic Ability

600929592
1

Online
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20

20

20

Yes

1
600929710
Yes



Find the difference between the sum of the digits of the biggest 4-digit number divisible by 11 and the sum of the digits of the biggest 4-digit
number divisible by 16.

Options :
1. % 2
2. % 4
3.6
4. % 8

Question Number : 41 Question Id : 60092911102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 3 fAUTST 4-3fP 1T o G TSt TBT & 3! & TNT 3R 16 T AU 4-3P 1T & G Fot TBT & 3feh] & TNT & e BT 3R J1d B |
Options :

1. % 2

2.% 4

3.6

4. % 8

Question Number : 42 Question Id : 60092911103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 5-digit number 9X112 when divided by 88 results in the square of twice of 4 times the power of 2. Find the value of X.
Options :

1.¥0

2.% 2

3.% 1

4. % 4

Question Number : 42 Question Id : 60092911103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 5-3H 1 TBAT 9X 112 B! ofd 88 I fAHTTd foh a1 ST € <Y 2 o 91 & 4 7T & Q1T &1 aFf UTWd gidll § | X &1 HH J1d B |




Options :
1.¥0
2. %2
3. % 1
4. % 4

Question Number : 43 Question Id : 60092911104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A museum has about 900 visitors on weekdays and about 1800 visitors on weekends. Find the daily average number of visitors of November if
Ist November is a Saturday.

Options :
1. %1200
2. % 1040
3. #1110
4. % 1140

Question Number : 43 Question Id : 60092911104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T JURTd H ATIe e el § TIHT 900 TR TWITgld TR AT 1800 SMFIGH 3MTd § | TS 1 TR &I AR g, Al TdeR & ANID] B
& Sa T J1d Y|

Options :

1. ¥ 1200

2. % 1040

3. % 1110

4. % 1140

Question Number : 44 Question Id : 60092911105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Income is tax-free till Rs 5,00,000. Till Rs 10,00,000, 10% of the income above Rs 5,00,000 is taxed and if the income is above Rs 10,00,000, the



tax rate is 20% for the income above Rs 10,00,000. What percent of his income would be paid as tax if X's income is Rs 15,00,000?
Options :

1. #® 7.5%

2.¥ 10%

3. % 12.5%

4. % 15%

Question Number : 44 Question Id : 60092911105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5,00,000 ¥UT & &1 31T FR-Tad & | 10,00,000 SUY S, 5,00,000 TYT I FHUR BT 3T BT 10% TR HR T ST 8 3R IfS 31T 10,00,000
JUT Y 3 g, A 10,00,000 TUT Y HfAF BT 3T & oI H 2 20% 31 TS X BT 31T 15,00,000 TYT B, T D1 31T BT fpa1 ufawra,
IR b =0 T YA fbar e

Options :

1. % 7.5%

2. ¢ 10%

3. % 12.5%

4. % 15%

Question Number : 45 Question Id : 60092911106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X bought goods marked at Rs 16,000 . He got a discount of 15%. Tax was added on the discounted price at 10%. What is the amount that X has
to pay?

Options :

1. * Rs 13960

2. ¥ Rs 14960

3. % Rs 13600

4. % Rs 15400

Question Number : 45 Question Id : 60092911106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

X 7 16,000 ¥UU R fafgd axg Wi 39 15% o1 ge et Ramd geg IR 10% &R ST a1 X &1 fardit 1 BT YT BT 82
Options :

1. % 13960 >UU

2. % 14960 >UU

3. % 13600 U

4. % 15400 %794

Question Number : 46 Question Id : 60092911107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y and Z invested some amounts of money on which their yield was of 6%, 8%, and 10% per annum respectively for 1 year. The difference in
the yields of X and Z is Rs. 600. What is the amount invested by Y if they invested equal amounts?

Options :

1. ¥ Rs 15000
2. % Rs 7500
3. % Rs 22500
4. % Rs 30000

Question Number : 46 Question Id : 60092911107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X, Y 3R 2 A 56 47 IR %1 3w foran, o W 1 avf & fore 3961 ufdwd w3 6%, 8% 3R 10% Ufd a¥ o1l X 3R z & ufdwd § 8faR
600 ¥UT 3| Tfe I THH IR &1 FAaw frar g @t v gRT Moz &t 11 i s g 2

Options :

1. % 15000 >UUT
2. % 7500 U
3. % 225004
4. % 30000 %497

Question Number : 47 Question Id : 60092911108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The profit on sales of a good is multiplied by 5 times if the selling price increases by 150%. Find the original profit percent.
Options :

1. ® 50%

2.9 60%

3. % 75%

4. % 90%

Question Number : 47 Question Id : 60092911108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T a5 B! foh! TR GTATH DI 5 1 9 T[0T ot SiTelt § afe foret god & 150% &1 gf Bt & | @ a1y Ufa=id 1d &1
Options :

1. * 50%

2. ¥ 60%

3. % 75%

4. * 90%

Question Number : 48 Question Id : 60092911109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X is 9 months older to Y and Y is 4.25 years old. What is the ratio of their ages?
Options :

1. ¥ 20:17

2. % 20:19

3. % 21:17

4. % 19:17

Question Number : 48 Question Id : 60092911109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X, Y QoA F8T1 8 3R Y Bl 3T 4.25 T4 & | SP! 3T HT 3IATd &1 82



Options :

1. ¥ 20:17
2. % 20:19
3. % 21:17
4. % 19:17

Question Number : 49 Question Id : 60092911110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum of 3 numbers is 262. The ratio of the first number to the second number is 4:5 and that of second number to the third number is 9:10.
Find the second number.

Options :
1. % 45
2. % 72
3.4 90
4. % 99

Question Number : 49 Question Id : 60092911110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 TReT3M T AT 262 § | TS TS BT G<T TRAT I SUT 4:5 § 3R G- TeAT T IR} TR I 0T 9:10 | G TS 1l B |
Options :

1. % 45

2.% 72

3.9 90

4. % 99

Question Number : 50 Question Id : 60092911111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There is a 63% increase in an amount in 7 years at simple interest. What will be the compound interest for Rs 40000 after 2 years at the same
rate?



Options :

1. % Rs 3762
2. % Rs 5643
3. ¥ Rs 7524
4. % Rs 11286

Question Number : 50 Question Id : 60092911111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST OR 7 G 7 AR H 63% P1 i Blehl o | ST & WR 2 I §E 40,000 TUU & fo1T Iehgie TSt T 1M
Options :

1. % 3762 U

2. % 5643 U

3. ¥ 7524 %UUQ

4. % 11286 %UU

Question Number : 51 Question Id : 60092911112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Principal amount with Simple Interest becomes Rs 1920 after 4 years and becomes Rs 2400 after 10 years. Find the rate of interest.
Options :

1. ¥ 5%

2. % 7.5%

3. % 8%

4. % 10%

Question Number : 51 Question Id : 60092911112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYTRUT ST aTeH ol X1 4 I8 & &€ 1920 TUT Bl ST § 3R 10 TN b &G 2400 FUY B1 ST § | ST Pt &= 1 PR |

Options :



1. ¥ 5%
2. % 7.5%
3. % 8%
4. % 10%

Question Number : 52 Question Id : 60092911113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An express train takes 30 minutes to cover a distance of 45 kms. If speed of local train is 75% that of express train, then how much time will it
require to cover the same distance?

Options :

1. * 42 minutes
2. * 36 minutes
3. % 48 minutes
4. ¥ 40 minutes

Question Number : 52 Question Id : 60092911113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR0 YERTIST 45 kms B X 00 B | 30 AT &1 997 el 51 AfE Apal aTTa! 1 ATl TNy YeRTIS! &1 711 BT 75% @, 1 ST
X P G A H I a1 997 aim

Options :

1. % 42 fBe

2. % 36 fBC

3. % 48 fiFe

4.+ 40 e

Question Number : 53 Question Id : 60092911114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X travels from A to B in 7 hours and 30 minutes. He travels at a speed of 90 km per hour for 2/3rd of the distance and rest at 900/7 kmph. Find
the distance travelled.



Options :

1. # 720 kms
2. % 736 kms
3. % 750 kms
4. % 756 kms

Question Number : 53 Question Id : 60092911114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 74¢ 30 A H A U B T% &I AT Bl g1 T8 QU B 2/3 B To1T 90 km UTT & B I AT =l § 3R 900/7 Kmph TR fRH A1 5
AT Pi TS g3 1 P

Options :

1. % 720 kms

2. % 736 kms

3. ¥ 750 kms

4. % 756 kms

Question Number : 54 Question Id : 60092911115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C together finish a job in 10 days. A alone can do the job in 20 days and B can do the job alone in 40 days. In how many days can C do
the job alone?

Options :
1. % 10
2.% 20
3. % 25
4. % 40

Question Number : 54 Question Id : 60092911115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B3R CUTR @G I P 10 A TR IRA G| A Hbdl 39 B DI 20 fel T R b1 8 3R B 3hal 3 B BT 40 fei A




IHdI g1 C 3fbhd 3G HTH B! fhaa fe= & . Ipa1 82
Options :

1. % 10

2. % 20

3. % 25

4.9 40

Question Number : 55 Question Id : 60092911116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pipe A can release 200 litres of milk per minute in a mixer and pipe B can release 160 litres of water per minute in the same mixer. If the pipes
can only be open one at a time, for how how many minutes should Pipe A be open in an hour so that the ratio of milk to water is 5:1?

Options :
1. = 45
2.9 48
3. % 51
4. % 54

Question Number : 55 Question Id : 60092911116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a2y A feR # ufd fiFe 200 e g4 1 T g iR Uigu B I faR & ufd fFe 160 wex Ut 81 I&dr g1 afe Uy &1 T R
H Had U gl IR W Soff Tl g, dl I12U A B U °e | fova- e & forg Wi =it arfes go SR Uit &1 SUTd 5:1 812
Options :

1. % 45

2. ¢ 48

3. % 51

4. % 54

Question Number : 56 Question Id : 60092911117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The height of a cone is 4 times its radius. Find the ratio of the volume of the cone with the volume of a sphere whose radius is the same as that of
the cone.

Options :
1. ¥ 1:1
2. % 2:3
3. % 4:3
4. % 3:4

Question Number : 56 Question Id : 60092911117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%$2ig>ﬁ&>dlédﬂqﬂﬁwm4uﬂl%l Qi & S BT 39 TIel b 3 o [T ST JATd B fSrqapt A1 2y o1 Bsan & g0
I

Options :

1. ¥ 1:1

2. % 2:3

3. % 43

4. % 3:4

Question Number : 57 Question Id : 60092911118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A board is rectangular in shape. The diagonal of the board is 8V13 cm and its area is 736 sq cm. Find the perimeter of the board.
Options :

1. # 48 cm

2. % 24 cm

3. % 72 cm

4. % 96 cm

Question Number : 57 Question Id : 60092911118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 918 MHR H SMTATHR 5 | 918 BT fAHU1 8v13 cm & 3R DT &ABA 736 sq cm & | TS ! UNRHATT 1A B
Options :

1. % 48 cm

2. % 24 cm

3. % 72 cm

4. ¥ 96 cm

Question Number : 58 Question Id : 60092911119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie-chart shows the composition of a mixture that is made up of different elements. Which element is equal to the average contribution of all
the elements?

Composition of a Mixture

Options :

1. % Oxygen
2. % Hydrogen
3. % Carbon
4. % Jodine

Question Number : 58 Question Id : 60092911119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Urs-=Te fafia deal 9 o {201 3t Ao &l 2idl 8 | i1 1 dd 94T dadl & 39d TR & SRI6R 872

frsror ot ==

Options :

1. % 3t
2. ¢ gIZSloA
3. % HEd

4. % NS

Question Number : 59 Question Id : 60092911120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the FDI for a country (in $ billion) for different years. For which year is the rate of change maximum?

FDI (in$ billien)
B BEEEEES

2014.201% 20152016  2016.2017  2017.2018  2018.2019  2019.2020
Year

Options :



1. # 2015-2016
2. % 2016-2017
3.+ 2018-2019
4. % 2019-2020

Question Number : 59 Question Id : 60092911120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 2015-2016
2. % 2016-2017
3.4 2018-2019
4. % 2019-2020

Question Number : 60 Question Id : 60092911121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the number of students who have left and joined a particular class in 4 years. If the strength of the college at the
start of 2018 was 600, then what was the strength of the college at the end of 2019?



#Mumber of Students who left —=—Number of Students who joined
g0 75
w
o
£ 70 - —_ 60
3 e —
E o an _1./
2 a0 [ : ]
E 30 '\-.
E 20 ¥
Z w4
2017 2018 2018 2020
Year
Options :
1. ® 650
2.9 670
3. % 660
4. % 680

Question Number : 60 Question Id : 60092911121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 650

2.9 670



3. * 660

4. % 680
General English
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Question Number : 61 Question Id : 60092911122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Felipa left Carmen at the foot of the stairs, striding of without another word.
Options :

1. # Felipa left Carmen at the foot

2. % of the stairs, striding

3. ¥ of without another word.

4, % No error

Question Number : 61 Question Id : 60092911122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Felipa left Carmen at the foot of the stairs, striding of without another word.
Options :

1. # Felipa left Carmen at the foot

2. % of the stairs, striding

3. ¥ of without another word.

4. ® No error

Question Number : 62 Question Id : 60092911123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The next class of wave or oscillation detector 1s the magnetic detector depending upon the power of electric oscillations to effect the magnetic
state of iron.

Options :
1. #* The next class of wave or oscillation detector

2. # is the magnetic detector depending upon the power



3. ¥ of electric oscillations to effect the magnetic state of iron.
4. % No error

Question Number : 62 Question Id : 60092911123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The next class of wave or oscillation detector is the magnetic detector depending upon the power of electric oscillations to effect the magnetic
state of iron.

Options :

1. # The next class of wave or oscillation detector

2. # is the magnetic detector depending upon the power

3. % of electric oscillations to effect the magnetic state of iron.
4. ® No error

Question Number : 63 Question Id : 60092911124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

One notable fact you'll see when you first encounter this deck is that there are additional symbols on both (the Major and Minor Arcane cards that
are not found on other decks).

Options :

1. ¥ major and minor arcane cards that are not found on other decks

2. % the Major and Minor Arcanum cards that are not found on other decks
3. # the major and minor Arcana cards that are not found on other decks

4. ® No correction required

Question Number : 63 Question Id : 60092911124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

One notable fact you'll see when you first encounter this deck is that there are additional symbols on both (the Major and Minor Arcane cards that
are not found on other decks).

Options :

1. ¥ major and minor arcane cards that are not found on other decks

2. # the Major and Minor Arcanum cards that are not found on other decks
3. # the major and minor Arcana cards that are not found on other decks

4. ® No correction required

Question Number : 64 Question Id : 60092911125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

That was the end of the conversation and (neither of them didn't bring up the subject again that night).
Options :

1. # either of them brought the subject up again that night

2. ¥ neither of them brought the subject up again that night

3. # cither of them didn't bring up the subject that night.

4. # No correction required

Question Number : 64 Question Id : 60092911125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

That was the end of the conversation and (neither of them didn't bring up the subject again that night).
Options :

1. # either of them brought the subject up again that night

2. ¥ neither of them brought the subject up again that night



3. % either of them didn't bring up the subject that night.

4. # No correction required

Question Number : 65 Question Id : 60092911126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

It is easy to greatly the barrenness of an arid country.

Options :

1. # subvene
2. % convene
3. * accentuate

4. ¥ exaggerate

Question Number : 65 Question Id : 60092911126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

It is easy to greatly the barrenness of an arid country.

Options :

1. # subvene
2. # convene
3. # accentuate

4. ¥ exaggerate

Question Number : 66 Question Id : 60092911127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



If you have a shy cat that tends to be , you will need to do more preparation to ease the transition of sharing life with a new
baby.
Options :

1. % resilient
2. # ethereal
3. # enhanced

4. % reclusive

Question Number : 66 Question Id : 60092911127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If you have a shy cat that tends to be , you will need to do more preparation to ease the transition of sharing life with a new
baby.

Options :

1. % resilient
2. % ethereal
3. # enhanced

4, % reclusive

Question Number : 67 Question Id : 60092911128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The allure of the show comes from

P. parties to Hollywood

Q. the truly unique cakes the staff produces,
R. providing whimsical creations for

S. everything from children's birthday

movie premieres.



Options :

1. # QPRS
2. % QSRP
3. ¥ QPSR
4. ¥ QRSP

Question Number : 67 Question Id : 60092911128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The allure of the show comes from

P. parties to Hollywood

Q. the truly unique cakes the staff produces,
R. providing whimsical creations for

S. everything from children's birthday

movie premieres.
Options :

1. ®* QPRS

2. ®* QSRP

3. ¥ QPSR

4. ¥ QRSP

Question Number : 68 Question Id : 60092911129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Opulent
Options :
1. # Prolific



2. % Abundant
3. ® Affluent
4. ¥ Sparse

Question Number : 68 Question Id : 60092911129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Opulent
Options :

1. # Prolific
2. % Abundant
3. % Affluent
4. ¥ Sparse

Question Number : 69 Question Id : 60092911130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Perfidious
Options :

1. ¥ Squeamish
2. % Loyal

3. # Unworthy

4. % Careless

Question Number : 69 Question Id : 60092911130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Perfidious
Options :

1. ¥ Squeamish
2. % Loyal

3. # Unworthy

4. % Careless

Question Number : 70 Question Id : 60092911131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Renumeretion

2. ¥ Remuneration

3. ¥ Renumaration

4, % Remunaration

Question Number : 70 Question Id : 60092911131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Renumeretion

2. % Remuneration

3. ¥ Renumaration

4. % Remunaration

Question Number : 71 Question Id : 60092911132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :



1. # Ingratate
2. # Ingretiate
3. % Ingratiate

4. # Ingraiate

Question Number : 71 Question Id : 60092911132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Ingratate

2. # Ingretiate

3. % Ingratiate

4. # Ingraiate

Question Number : 72 Question Id : 60092911133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In the long run

Options :

1. # To have something secured

2. ¥ Eventually, after a long period of time

3. % Before the time necessary to do something

4. ¥ Overwhelmed by what is happening in the moment

Question Number : 72 Question Id : 60092911133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

In the long run



Options :

1. #® To have something secured

2. ¥ Eventually, after a long period of time

3. # Before the time necessary to do something

4. ® Overwhelmed by what is happening in the moment

Question Number : 73 Question Id : 60092911134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Go the extra mile

Options :

1. ¥ To gamble everything you have

2. % Compromise, cooperation between people

3. ¥ Going above and beyond whatever is required for the task at hand

4. ® Source of irritation

Question Number : 73 Question Id : 60092911134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Go the extra mile

Options :

1. # To gamble everything you have

2. % Compromise, cooperation between people

3. % Going above and beyond whatever is required for the task at hand

4. ¥ Source of irritation

Question Number : 74 Question Id : 60092911135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate 'one word ' for the expressions given below.

An ability to express oneself well in speech
Options :

1. % Orthodox

2. % Versatile

3. % Foresight

4. ¥ Oracy

Question Number : 74 Question Id : 60092911135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

An ability to express oneself well in speech
Options :

1. # Orthodox

2. % Versatile

3. * Foresight

4. ¥ Oracy

Question Number : 75 Question Id : 60092911136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who leaves his country to settle in another country
Options :

1. # Dilettante

2. % Egotist

3. ¥ Emigrant

4. % Effeminate



Question Number : 75 Question Id : 60092911136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

A person who leaves his country to settle in another country
Options :

1. * Dilettante

2. % Egotist

3. ¥ Emigrant

4. % Effeminate

Sub-Section Number : 2
Sub-Section Id : 600929712
Question Shuffling Allowed : Yes

Question Id : 60092911137 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

You know that you're doing something big when your company name becomes a verb. Ask Xerox. In 1959 they created the first plain paper copy
machine. It was one of the most successful products ever. The company name Xerox grew into a verb that means "to copy," as in "Bob, can you
Xerox this for me?" Around 50 years later, the same thing happened to Google. Their company name grew into a verb that means "to do an
internet search." Now everyone and their grandma knows what it means to Google it.

Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos released their search engine in 1993. Yahoo!
came out in 1994. AltaVista began serving results in 1995. Google did not come out until years later, in 1998. Though a few years difference may
not seem like much, this is a major head start in the fast-moving world of tech. So how did Google do it? How did they overtake their
competitors who had such huge leads in time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which ones are relevant to your search? This is a
question that great minds have been working on for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They counted how many times those words appeared on
each page. Then they might return pages where the words in your query appeared the most. This system did not work well and people often had
to click through pages and pages of results to find what they wanted.



Google was the first search engine that began considering links. Links are those blue underlined words that take you to other pages when you
click on them. Larry Page, cofounder of Google, believed that meaningful data could be drawn from how those links connect. Page figured that
websites with many links pointing at them were more important than those that had few. He was right. Google's search results were much better
than their rivals. They would soon become the world's most used search engine.

Sub questions

Question Number : 76 Question Id : 60092911138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company's example has been given, for the company's name become a verb apart from xerox?
Options :

1. ¥ Google

2. % Uber

3. # Skype

4. % PayPal

Question Number : 77 Question Id : 60092911139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first company to launch a search engine?
Options :

1. # Google

2. # Yahoo!

3. * AltaVista

4. ¥ Lycos

Question Number : 78 Question Id : 60092911140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was Google launched?
Options :

1. ® 1994

2. %1993



3. % 1995
4. ¥ 1998

Question Number : 79 Question Id : 60092911141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. # Xerox launched a product in 1959, plain paper copy machine, which was one of their most successful products ever.
2. # Lycos was the first search engine which was released in 1993.

3. ¥ Google became the only second company whose company name was used as a verb.

4. ® Larry Page the co-founder of google, was the person who believed that using links could refine the search results greatly.

Question Number : 80 Question Id : 60092911142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What feature made google different from its competitors back in 1998 when it was first launched?
Options :

1. ¥ Google's search engine began considering links.

2. # Google's search engine results much better than rivals'.

3. % Google's search engine results were faster than its rivals'.

4. % Google's did not rely on the words used while looking for results.

Question Id : 60092911137 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

You know that you're doing something big when your company name becomes a verb. Ask Xerox. In 1959 they created the first plain paper copy
machine. It was one of the most successful products ever. The company name Xerox grew into a verb that means "to copy," as in "Bob, can you
Xerox this for me?" Around 50 years later, the same thing happened to Google. Their company name grew into a verb that means "to do an
internet search." Now everyone and their grandma knows what it means to Google it.



Unlike Xerox, Google wasn't the first company to invent their product, not by a long shot. Lycos released their search engine in 1993. Yahoo!
came out in 1994. AltaVista began serving results in 1995. Google did not come out until years later, in 1998. Though a few years difference may
not seem like much, this is a major head start in the fast-moving world of tech. So how did Google do it? How did they overtake their
competitors who had such huge leads in time and money? Maybe one good idea made all the difference.

There are millions and millions of sites on the internet. How does a search engine know which ones are relevant to your search? This is a
question that great minds have been working on for decades. To understand how Google changed the game, you need to know how search
engines worked in 1998. Back then most websites looked at the words in your query. They counted how many times those words appeared on
each page. Then they might return pages where the words in your query appeared the most. This system did not work well and people often had
to click through pages and pages of results to find what they wanted.

Google was the first search engine that began considering links. Links are those blue underlined words that take you to other pages when you
click on them. Larry Page, cofounder of Google, believed that meaningful data could be drawn from how those links connect. Page figured that
websites with many links pointing at them were more important than those that had few. He was right. Google's search results were much better
than their rivals. They would soon become the world's most used search engine.

Sub questions

Question Number : 76 Question Id : 60092911138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company's example has been given, for the company's name become a verb apart from xerox?
Options :

1. ¥ Google

2. # Uber

3. % Skype

4. # PayPal

Question Number : 77 Question Id : 60092911139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which was the first company to launch a search engine?
Options :

1. # Google

2. % Yahoo!

3. # AltaVista

4. ¥ Lycos



Question Number : 78 Question Id : 60092911140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was Google launched?
Options :

1. % 1994

2. % 1993

3. % 1995

4. ¥ 1998

Question Number : 79 Question Id : 60092911141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. #® Xerox launched a product in 1959, plain paper copy machine, which was one of their most successful products ever.
2. % Lycos was the first search engine which was released in 1993.

3. ¥ Google became the only second company whose company name was used as a verb.

4. ® Larry Page the co-founder of google, was the person who believed that using links could refine the search results greatly.

Question Number : 80 Question Id : 60092911142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What feature made google different from its competitors back in 1998 when it was first launched?
Options :

1. ¥ Google's search engine began considering links.

2. % Google's search engine results much better than rivals'.

3. #® Google's search engine results were faster than its rivals'.

4. ® Google's did not rely on the words used while looking for results.
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Question Number : 81 Question Id : 60092911143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 &3 off AT 77T TfY-fawde Weg & e fY o1 faweu g
3 + 3

Options :
1. # Al



2. ¢ 3
3. % 3y
4. % 3

Question Number : 81 Question Id : 60092911143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawred &1 79 3 off 3T 77U TfY-fawde Weg & e fY &1 faweu g
3 + 3

Options :

1. % 3dIg
2. % 34y
3. % 3T
4. % 34

Question Number : 82 Question Id : 60092911144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 fdded &1 99 &< Sl fQU 71U ¥fY Xsg & Wo! 9ie-fawg &1 [ddhed g
gt

Options :

1. ® :Eﬁﬂqﬁf
2. % 941+ 34
3. % 7t + 3
4. 94 +HHf

Question Number : 82 Question Id : 60092911144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 faseal & § 39 fased &1 79 3 off AT 77 TfY Trsg & Tat IfY-fawe o1 fawe g
TegHt

Options :

1. % It + THf
2. % qdl+ 39
3. % 7t + 3ff
4. 98 +Huf

Question Number : 83 Question Id : 60092911145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg faeent § § I fahed &1 70 Y S Y&d Tgaa-T I g |
Options :

1.« G

2. % o
3. % &

4. % T3

Question Number : 83 Question Id : 60092911145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl § ¥ 39 fadwed &1 98 &< ol U¢d Sgaa1 HI¥U g |
Options :

1. ¥ &=

2. % S

3. % N

4. % 9]

Question Number : 84 Question Id : 60092911146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e oot B § I faded &1 78 &Y S Ued Tl sg &I U5t faded g |
Options :

1. % fgHTer

2. ¢ i

3. % qd

4. % HIAAR

Question Number : 84 Question Id : 60092911146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faemeat 7 O 3 9oy o7 98 o ol & WifeiT Wec, &1 el v g |
Options :

1. % fgHTery

2. ¢ 3ffgan

3. % ad

4. % HITAIR

Question Number : 85 Question Id : 60092911147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 fasrey &1 999 o3 o iU 7T areaisi & ol Ue Seg &1 et faded g
e ®1E sBTAT 8 -

Options :

1. % 3
2. % fAfdeR
3. g

4. % gt

Question Number : 85 Question Id : 60092911147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdsheu &1 9a &3 off faU U areieil & oI U Xeq; &1 98} fasheu g
[EREICIEEEI RN

Options :

1. % 3ffwaT
2. % FAfdeR
3. g

4. % T

Question Number : 86 Question Id : 60092911148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 99 &< Sl 14T 7Y Xrea-gi & forg Wt o aran fawed g
aRd - gk

Options :

1. % U, ygid
2. % XML WM
3. % TU4d, Ulg

4. ¥ U , UTY

Question Number : 86 Question Id : 60092911148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 oot B § 39 faded &1 78 & o1l faU U Xee-gm & fore 9@t o aran fased g
aika - g

Options :
1. % Ug, yguid
2. % GBI WM




3. % Udd, g
4. ¢ SIUI%H , UY

Question Number : 87 Question Id : 60092911149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdehey &1 98- B3 o degd Usg &1 T8t fddhed g
Options :
1. % 9g
2. % gRd
3. % g
4. Y3

Question Number : 87 Question Id : 60092911149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fyeretl B A 39 fadey 1 = R O deed Tea 1 8! fdepeu |
Options :

1. % 90

2. % g

3. % 14

4. Y3l

Question Number : 88 Question Id : 60092911150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 5 aR fowdl 7 @ 39 faded &1 9g9 &3 oY 3T ¢ a1eg & et HTd &1 fAwheu 3 |

IS Hd IV Bl |
Options :

1. % T gdae ord




2. % 3H YdbTd
3. ¢ QYT Yid=Idq DTl

4. % quf yderd

Question Number : 88 Question Id : 60092911150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 7 aR foswedl & I 39 fawed &1 99 &3 off QT 7T a9 & 8! &1d &1 f[dhed § |

MG Hd I 87 |
Options :

1. % e gdq= H1d
2. % A Ydbld

3. ¥ U Hidsdq dhId
4. % Ul YdPb1a

Question Number : 89 Question Id : 60092911151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl 7 O 39 faped o1 9g4 &% off 3T T4 a1e & forg Il 9 &1 faped g
fIRTH o fUdT &1 911 G=RY o |

Options :

1. ® IR IqIHT

2. % iy arey

3. % JYId ar

4. ¢ faY™aES I

Question Number : 89 Question Id : 60092911151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 39 fasweu o1 g4 &3 o fou 7N are & forw I8t 9 o1 fase 3




SR o T T 17 GRRY T |
Options :

1. % IRA I

2. % oy ar

3. % gYad die

4. ¢ fAYFaES 91

Question Number : 90 Question Id : 60092911152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fasheu &1 9u B3 off AU T8 a1e & o uel & U &1 I 3131 fashed g

dg 3§ dP B! W A1 § |
Options :

1. % Fgarnds

R A UGIBIGED

3. % YD

4. ® FAUAYD

Question Number : 90 Question Id : 60092911152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fapeal & T I fahey &1 0 3 il faT 7T a1y & T Uel & We &1 Jad 3T fAhed |
aE 3/d T B! B b1 ¢ |

Options :

1. % Agards
2. ¢ JUARIIdS®

3. % YD
4. % FAAAYD




Question Number : 91 Question Id : 60092911153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o faeedl & 9 39 fasey o1 99- 3 ol AU ared & fore gy & W &1 Yo a1 fashey g

T T, BRI T e Udig ot 31y |
Options :

1. ¢ qrTaTd

2. % Thard

3. % faemyf

4. % [y

Question Number : 91 Question Id : 60092911153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 faepedl # A 39 faehed o1 9o o3 Sff fa aTed o oy gt o 1 bl Yol 3T fdebed g

T U1, TR T e Udig oY 311 |
Options :

1. ¢ eI

2. % Jopard

3. % fgerd

4. % Py

Question Number : 92 Question Id : 60092911154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 Tg & o 3T 0 gerak & 31 &1 9ay 33T faded g

THT -1 9d1d e
Options :
1. % YFT-GI8 HRAT




2. % A HAT
3. ¢ BRI IR &1
4. % g3 ABIS

Question Number : 92 Question Id : 60092911154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & J 39 fadwed &1 99 &3 off AT T8 GeTak & 31 &1 Tey 33T fadhed g

T -7 STaTd ST
Options :

1. % YF-GIS HAT
2. % YA HAT
3. ¢ BRI IR ol
4. ® g3 ABIS

Question Number : 93 Question Id : 60092911155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fased! o 9 39 faded &1 9= &< Sl 73T T4 GeTar & 31 & qad 331 faaed g
TR G B THTRI ST |

Options :

1. % fUS S1dl P ATg HRAT |

2. % Sgd o |

3. ¢ 3{UHT T Db 3G T |
4. % §gd G M |

Question Number : 93 Question Id : 60092911155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & I 39 fadwed &1 99 &3 off AT T8 GeTak & 31 &1 Tey 33T fadhed g




TR B B THRN GG |

Options :

1. % Ul a1dl & a1g =T |

2. % 9 Y|

3. ¢ 3O JRITH HRb TG T |
4. % qgd QR M |

Question Number : 94 Question Id : 60092911156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 faewey &1 70 &3 o fou Aifad & 31 &1 Jad 337 faded g
W Fe g gRac dod1 g |

Options :

1. ¢ 5T § Ui 1 Fear g |
2. % UG S Y B |

3. % ey YA g7 |

4. % QHted 9id o |

Question Number : 94 Question Id : 60092911156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdewey &1 9= &3 off fou Awvifad & 31 &1 Jad a1 faded g
3" Fe {59 Hae I3ar g |

Options :

1. ¥ 51§ URome 1 Reperar |
2. % I HD Y B |

3. % ey GHI BT |

4. % TYiEd 9id o |




Question Number : 95 Question Id : 60092911157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdewey &1 9= &3 o fou Awifad & 31 &1 Jad a1 faded g
B B Al B db W AR

Options :

1. % S Y fBear g9 4 < |

2. ¢ Tt - 7 B foT srawr e usmsT SiraT 8
3. % g9 3R fauRi o181 |

4. % QG ATH |

Question Number : 95 Question Id : 60092911157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 faswey &1 70 &3 off fou Aifad & 31 &1 Jad 337 faded g
IH B Al B dob W FR

Options :

1. % JW Y PErar g+ o 2|

2.« 5} - 7 foddt foT sra suvreh ush st ST 8
3. % g 3R fyuRy 18|

4. % QEATIY |

Sub-Section Number : 2
Sub-Section Id : 600929714
Question Shuffling Allowed : Yes

Question Id : 60092911158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

e fou U TR & ST W Uy T U § (39 TR & O Jad U 3R IR faw e # ¥ Udd Uy &1 arad SR g |




TS &1 30 FH IR HYPR §1 98 FH & SR el U1 D1 51 37 FH HI TR S8 B i 317 firerar 1 R w1 o1 aRoms g
g1 & | THH BT Sio] S b THM g | ST Sio] 81T &, 9% 81 U8 3R odl &1 Bl 8Id & | T Helad ¢ — a1 US 990 &1 ol 3T Hgl 4
T TN TS99 ORI 3icfet: G HId AR &1 S SSH & e BT €, Waﬁé@mﬁvgﬂﬁaaﬁ%lwaﬂs‘ww
%??ﬁ‘ﬁwm%l SHRT Afadd AR HHT BT 81 Ufdfad g1 3R gH 3MTolld & UM & ol HRTEIS Rd & al 39Y SHRT Sita- &t 3=1id
|
T B IRYH HT G W I ¢ dl S THadl 94T IgfS BT Hd U Bial o | GOR1 B A6 d 3R YaaHT o1 Siia- Sitdl g | 39 SiaaHR
AR, 3N 3R URASTSN & S1d X1 ISdl g | F AN & & o1 Hi I T 8 6, A=A g1 3fck: TS DI Gud HH - gl | SH A AT H
A QI ST ©, Tt 2hif frercht g |

Sub questions

Question Number : 96 Question Id : 60092911159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7Y &1 PR fFPT WR e 2
Options :

1. ® ddd W

2. ¥ HFHWR

3. % SlgT W

4. % gRUMH |

Question Number : 97 Question Id : 60092911160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SI UG §9Q &1 ol 3 H81 9 T Alpifad b1 T 3 g 2
Options :

1. % g YIYOT &A1

2. % AgayUl e

3. % 31y ek

4. ¥ R B BT 3BT Hd el (Hadm

Question Number : 98 Question Id : 60092911161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S AT 959 4 B B, 3P 9 HU Bl | ?
Options :

1. % I S UaP B § |

2. % SAMGR B § |

3. ¢ SEAM AR gURA B B

4. % JSHBIAE |

Question Number : 99 Question Id : 60092911162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG & HTIR &S R GG ?
Options :

1. % 3wy HH Bl

2.+ G QRN o 1Y ST

3. % fAER 3/ &

4. % TS -UTS DRl

Question Number : 100 Question Id : 60092911163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X RIS T IId oD S |
Options :

1. * ¥d faurR

2. % T BT HH

3. ¥ SR BRI o1 4RI

4. % gl wifd

Question Id : 60092911158 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Fra fou e T & S1e « Uy foU U B (39 TR P e4H Yde U SR AR fadmed Hf ¥ Udd Uy T qarad SR I |




TS &1 30 FH IR HYPR §1 98 FH & SR el U1 D1 51 37 FH HI TR S8 B i 317 firerar 1 R w1 o1 aRoms g
g1 & | THH BT Sio] S b THM g | ST Sio] 81T &, 9% 81 U8 3R odl &1 Bl 8Id & | T Helad ¢ — a1 US 990 &1 ol 3T Hgl 4
T TN TS99 ORI 3icfet: G HId AR &1 S SSH & e BT €, Waﬁé@mﬁvgﬂﬁaaﬁ%lwaﬂs‘ww
%??ﬁ‘ﬁwm%l SHRT Afadd AR HHT BT 81 Ufdfad g1 3R gH 3MTolld & UM & ol HRTEIS Rd & al 39Y SHRT Sita- &t 3=1id
|
T B IRYH HT G W I ¢ dl S THadl 94T IgfS BT Hd U Bial o | GOR1 B A6 d 3R YaaHT o1 Siia- Sitdl g | 39 SiaaHR
AR, 3N 3R URASTSN & S1d X1 ISdl g | F AN & & o1 Hi I T 8 6, A=A g1 3fck: TS DI Gud HH - gl | SH A AT H
A QI ST ©, Tt 2hif frercht g |

Sub questions

Question Number : 96 Question Id : 60092911159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7Y &1 PR fFPT WR e 2
Options :

1. ® ddd W

2. ¥ HFHWR

3. % SlgT W

4. % gRUMH |

Question Number : 97 Question Id : 60092911160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SI UG §9Q &1 ol 3 H81 9 T Alpifad b1 T 3 g 2
Options :

1. % g YIYOT &A1

2. % AgayUl e

3. % 31y ek

4. ¥ R B BT 3BT Hd el (Hadm

Question Number : 98 Question Id : 60092911161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



S AT 959 4 B B, 3P 9 HU Bl | ?
Options :

1. % YN % Jabh 8ld ¢ |

2. % SAMGR B § |

3. ¢ YU AR gURA T | |

4. % JSHBIAE |

Question Number : 99 Question Id : 60092911162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG & HTIR &S R GG ?
Options :

1. % 3wy HH Bl

2. ¥ g8 ATl & TIY ST

3. % fAER 3/ &

4. % T[T -UT3 DR

Question Number : 100 Question Id : 60092911163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X RIS T IId oD S |
Options :

1. * ¥d faurR

2. % T BT HH

3. ¥ SR BRI o1 4RI

4. % gl wifd

Disciplinel
Group Number : 6
Group Id : 600929440



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 600929595

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929715

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 60092911164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{afe 1 fahTH fobg MUY= A g3

Options :

1. % WERIST
2. % QRI
3.  fATTEh

4. % AATER



Question Number : 101 Question Id : 60092911164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{afY 1 fapr fohd MUY= I gam
Options :

1. % AQRIS

2. % JREA

3. ¢ T

4. % AATER

Question Number : 102 Question Id : 60092911165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HATABR e I 572

Options :

1. ¥ YHg

2. % J[OIRRR

3. % 43t

4. % BEYG

Question Number : 102 Question Id : 60092911165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIATADR forgep! Ta1 5?2

Options :

1. ¢ HIHg

2. % IOITR

3. % g3l

4. % IGYE

Question Number : 103 Question Id : 60092911166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Deic & JarNed I &1 3¢ XY a1 82
Options :

I ¥ IR UGY

2. % TR AfhAd

3. % I g

4. % GO G 9 g9 IS

Question Number : 103 Question Id : 60092911166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeiE & YANIGT JU-AT &1 g, AN 7 82
Options :

1. ¥ dIVIR U gH

2. % RS A

3. % TN g

4. % GO GAId g9 99

Question Number : 104 Question Id : 60092911167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRIRIR TTG BT JaUYH AICh I 9 5?2
Options :

1. % gl

2. % ol

3. % PHMEI

4. % fasmrg

Question Number : 104 Question Id : 60092911167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
SRR UTG &1 FaUYH AIed I A1 62
Options :

1. % g4

2. ¥ i

3. % DHMI

4. % fa=m@

Question Number : 105 Question Id : 60092911168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IATHTA b IR HRdAG b (7 ATceh! b1 Fgl shH UgdIy|
Options :

| % Herd, sidR AR, wRd gdE, I v

2. % il YTy, =ieigal, HRd gazl, 3R TR

3. % 3SR TR, YRA go, et U, acat

4. ¢ YR g, Fidcd!, i8R A7, et yd1g

Question Number : 105 Question Id : 60092911168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & STHR HRAG & 8 ATchl o1 ¥gt hH UgdIy|
Options :

1. % facdt, 3R TR, YRd ge2m, et Uy

2. % Gl g, e, YRd e, SR TR

3. % 3SR TR, URA go, Talt yar, Hiacat

4.+ YR GG, Fidcdl, R T, Telt yarg

Question Number : 106 Question Id : 60092911169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g yRa i<t aftfa & wid oe g ot
Options :

1. % 19275,

2. ¥ 1918 %.

3. % 1945%.

4. % 1946 3.

Question Number : 106 Question Id : 60092911169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl yRa et aftifa & wu %e g8 ot
Options :

1. % 1927%.

2.v 1918 %,

3. % 1945%.

4. % 1946 3.

Question Number : 107 Question Id : 60092911170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(R CRAC R CARG T K

Options :

1. ¢ SR GWI

2. % YZ HER

3. % HYM

4. % JGIRIWR

Question Number : 107 Question Id : 60092911170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& Q7 fpaat T 82



Options :

1. ¢ R GWI
2. % Y haR
3. ¥ HYMI

4. % JOAVR

Question Number : 108 Question Id : 60092911171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffeerTa § Id BT aiite fd died H forg T
Options :

1. ¢ S e

2. % I AIfg

3. % 1Y Fifgd

4. % g aifgd

Question Number : 108 Question Id : 60092911171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffeertel ® TR T Faiftre fbd aifge o fera w2
Options :

1. ¥ S aifed

2. % ! Aig

3. % 1Y Fifgd

4. % g aifgd

Question Number : 109 Question Id : 60092911172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Higd & HT ITHS ¥U 3| T8 fha- a1 U
Options :



1. ¢ 3TER S Yad

2. % B =

3. % 3T g9IR) UG fgad
4. % ¥ gAR IreI0A!

Question Number : 109 Question Id : 60092911172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT ¢ 7 IS U B T8 [ Per Um
Options :

1. ¢ 3T % YEd

2. % BT AR

3. % 3R gOIR] UG fgadl

4. % 5 AR o0l

Question Number : 110 Question Id : 60092911173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B P U, T1 81 7Y, 3R 1 I 31y

313 faam 3t firaes & vt guft| dfaaar fed e &1 82
Options :

1. ¢ YRd YRl

2. % qlhd

3. % gIMERT

4. % fqwiftan

Question Number : 110 Question Id : 60092911173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BH DI 4, T8I 1T, 3R 1 g1 31+ '
33f famm 3t fraers 3 greg gl ufeaar feg T &t g2



Options :

1. ¢ YRd YRl
2. % lhd

3. % GRMNERT

4. % fqwiftrn

Question Number : 111 Question Id : 60092911174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl I SPIGHT YD R b s o1 o e U

Options :

1. % fARret ot arfe s qreAT
2. % ARIR

3. ¢ fRHRMH

4. % e

Question Number : 111 Question Id : 60092911174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdl g fehTeHT GREDBR fobd T bl ot U1
Options :

1. % f*R7eT &1 Fifged FreAT

2. % JFARIR

3. ¢ feHRAT

4. % HEEA

Question Number : 112 Question Id : 60092911175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & I HRGEN B HIH UIN HH-51 71 I

Options :




1. ¢ USRI
2. % 3geft
3. #® 99

4, % ggaEs!

Question Number : 112 Question Id : 60092911175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & I HRAEN B HIH YN HH-5 71 A2
Options :

1. ¢ JIoTgd

2. % 3rqet

3. % 9y

4, % ggage!

Question Number : 113 Question Id : 60092911176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg & o1 Tl O forg rTGon T 3roft Sfd o1 ST 82
Options :

1. % TRNTETG

2. % TETfaTal

3. ¢ BEIG

4. % 3MYFeb Bfa

Question Number : 113 Question Id : 60092911176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for & Pt [Tt & fore uTeSt 1 3ruft Sfa [T STt /2
Options :

1. % YONTQTel



2. % TaTfoard
3.  BITETeL
4. % 3NYFeb Bfa

Question Number : 114 Question Id : 60092911177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TREATY & T[S BT T A0 Y12

Options :

1. % 3y

2. % HREY

3. % ATy

4. ¥ TS

Question Number : 114 Question Id : 60092911177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRG1Y & T &1 T A Y12

Options :

1. % 3fry

2. % HREY

3. % FrafiATY

4. ¥ AESAY

Question Number : 115 Question Id : 60092911178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 HEIal § A SIF-3 R 3R1T &1 8 52
Options :

1. # fauem

2. ¢ Uell SR dush



3. % HIGI BI Fd
4. % ot

Question Number : 115 Question Id : 60092911178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e FeIal § § S1H-0 FEr o’ B 61 82
Options :

1. % fauem

2. ¥ Uit 3R iU

3. % DI B a1

4. % ROt

Question Number : 116 Question Id : 60092911179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HF SaIR] qUiHTe el HebTIRId §5?
Options :
1. % 1957
2. % 1955
3. ¥ 1966
4. % 1947

Question Number : 116 Question Id : 60092911179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AM® G ITR] qUIHTAT Hd THTIRId 537
Options :
1. % 1957
2. % 1955
3. ¥ 1966



4. % 1947

Question Number : 117 Question Id : 60092911180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oY TRIET i T fb e Bi?

Options :

1. ¢ fa=mfa

2. % QR

3. % gadie™

4. % SOl

Question Number : 117 Question Id : 60092911180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TN URI&MT 1 =T fobar i

Options :

1. ¢ fdemfa

2. % WM

3. % gadie™

4. % ST

Question Number : 118 Question Id : 60092911181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O S0 & 1 BIS ST R § HIS! §H ol a) 1, HT-faemy 7Y =g @refl Aier-gier g 3R Hiel-Siel @M, 3R TReIG & 91y
TG 9184 8] a8 ) e Gudn) fhe Iu=aT &1 a1 72
Options :

1. % JHIYH
2. ¢ TigH
3. % YW




4. ® UYMW

Question Number : 118 Question Id : 60092911181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y S0 & 1 BIS ST R § HIS! §H Il a) =i, HHT-faemy 7Y =rgq @refl Jier-gier ug=HT 3R Hiel-Siel @M, 3R TR & 1Y
I8 dTed 3| 98 Ht e gudT {5 Iu=urg &1 a1 82
Options :

1. % AT
2. ¢ TigH

3. % Y
4. % HHYY

Question Number : 119 Question Id : 60092911182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRIG AW Bt aTar & AT B A2
Options :

1. % fagamy off

2. ¢ MG Sif

3. % TGN Sff

4. % T Hfd

Question Number : 119 Question Id : 60092911182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR WG 1 ATl o IR DI A2
Options :

1. % fagay it

2. ¢ TGy Sl

3. % qIHICHT St



4. ® T B

Question Number : 120 Question Id : 60092911183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRt UG o e SUSIT H R UTH &1 H1H T Y17
Options :

1. % HYd]

2. ¥ B

3. % faRma g

4, % faor

Question Number : 120 Question Id : 60092911183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN UeE & TG SURITE H §B Ul b A1 T 1?2

Options :
1. % HYdI
2. ¥ BRI
3. % fa—mei &a
4. % faar

Discipline2
Group Number : 7
Group Id : 600929441
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 600929596

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929716

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 60092911184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAFWN HE BT U G 3T Th o' BT TN 82
Options :

1. % gRpidd

2. % WD

3. % faferedt

4. ¥ JUCRTEHSD

Question Number : 121 Question Id : 60092911184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SISO HE BT IUIT N TS Ueb Jol' T SUAT 62
Options :




1. % gRpldd
2. % UfeTR®
3. % faferedt
4. ¢ JUCRTHSD

Question Number : 122 Question Id : 60092911185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad Su=ural 7 @ HH-91 Su=uTy e Rig Iuremg gRaie &1 T8 82
Options :

1. % 99 &1 SldbT

2. % 36 fgdl B1318

3. % JYRIST Bd

4.« b AT

Question Number : 122 Question Id : 60092911185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRoffed STl # @ SH-91 SU=uTY sravent Rig Iurery gRaier &1 T8 82
Options :

1. % 9 HISBI

2. % &3 fgdl BT 318

3. % JYRIe B

4. ¢ Iy A

Question Number : 123 Question Id : 60092911186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG St & "habTal IU-A H fheeT 9o 82
Options :

1. « TS e o1 fawwar Sik safdd &t vew ughrdl o1 ay




2. % FHTS-IaRIT IR dRal
3. % 3MTERT 3R JUTY & o T WTs BT &Y
4. % 312 U g AT BT

Question Number : 123 Question Id : 60092911186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T1e St & 'S HTa SN H fhyesT auiH g2

Options :

1. ¢ IS SU=T DT IToHdT 3R fad &1 gg ughudl &1 duy
2. % FUS-FqRIT R dikal G

3. % 3M1eRf 3R gurd & i WSt WMs &1 ¥

4. % 3G A G AN BT

Question Number : 124 Question Id : 60092911187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRIUTS = SO HEHT TR SR et T o1 §ar 62
Options :

1. % =R ACH Y IF 7

2. % M TR Y I

3. ¢ S 3 ) aRTRufel o o1d AT 8 It s aTT ®
4. % T URTRTT 9§ Sitd =181 Toba|

Question Number : 124 Question Id : 60092911187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRUTS A U P! TR R SHTEH H -1 51 62
Options :

1. %GR ACH Y 9§ 7

2. % MEH T=R Y IV 7



3. ¢ Sl 3 D1 aRFRYf! & gTet a3 98! 9 urar 3
4. % TS URIRYferdT & Sild gl Fabe

Question Number : 125 Question Id : 60092911188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTe HEMHI & AGH DI 82

Options :

1. % geradara IH

2. % Iolg Yred

3. % Y USRI

4. ¢ TAR 1Y T BRI

Question Number : 125 Question Id : 60092911188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS FEH BT AWS B 82

Options :

1. % gara-ard TH

2. % Iig Ired

3. % Y USRI

4. ¢ TIR = Tl IR

Question Number : 126 Question Id : 60092911189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1% IR &l 3P UHTRM HTd o IR gl ohH T ARy
Options :

1. % §g 3R Igx, HSAME, 3Fd AR 3w, T sifaa

2. % T 3HiTd, 3 iR v, g 3R I, FaE

3. % B, §g 3R 94, 3Hd 3R faw, e sifaa




4.« TAT i9d, §g 3R 99, 30d 3R fou, Haae

Question Number : 126 Question Id : 60092911189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ST D1 3D UHTRMA DHTdd & IR Hal hH H TARY|
Options :

1. % gg 3R THE, oA, 3d 3R fqu, e sifaa

2. % T 3ffgd, 3d 3R v, §g 3R 9%, H3[aE

3. % HoIAE, §g 3R 94, 3Fd 3R faw, 7 sifaa

4.« TET 3{fad, g 3R I, 3/d 3R fou, Haae

Question Number : 127 Question Id : 60092911190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS IS T JOAT fhah! BT 52
Options :

1. ¢ fRraue RR fg<

2. % TG el

3. % g cdl faEn

4. % &M

Question Number : 127 Question Id : 60092911190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HYsT BT FUAT fhaeb! Hel 82
Options :

1. ¢ gy RaR fg=<

2. % I !

3. % JuTcdl B

4. % o=



Question Number : 128 Question Id : 60092911191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR Sra foraeT e 72
Options :

1. % YRdg dIg,

2. ¥ AYUTHO] G

3. % UAqAR™ iy

4, % 3HfTgpled ™

Question Number : 128 Question Id : 60092911191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g s fhgenT 1T &
Options :

1. % YRdg aIq

2. ¢ JYTHWT G

3. % UAqAR™ iy

4. % ITIHIGT AN

Question Number : 129 Question Id : 60092911192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y1l &t a2 @ U o forg et & BT U

Options :



Question Number : 129 Question Id : 60092911192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yral &1 fUEa i 9 T o fovd ufdesT & gt um
Options :

1. ¥ YUYl

2. % TIER

3. % Tafer

4. % 89

Question Number : 130 Question Id : 60092911193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & & SATIRT 9% AR F1 THid! AHha- HIH-9T1 82
Options :

1. % Gl

2. % HA

3. ¢ UHR BT AR

4. % QoI

Question Number : 130 Question Id : 60092911193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 o O ST 9% AR BT Ui Jaber HIH-1 62
Options :

1. % gl

2. % TTHT

3. ¢ UHR BT AR

4. % Al HIEC

Question Number : 131 Question Id : 60092911194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

&t H TS UfafY o1 Ugdr IUIT SHI--971 82
Options :

1. ¢ 9 g4Il & Wqd

2. % GYAT P o

3. % AT P ddl W

4, % TR

Question Number : 131 Question Id : 60092911194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fect H s Ufafd o1 Ugdr IUIT SHIH-I71 82
Options :

1. ¢ dg g4l o Wqd

2. % gYdI DI ot

3. % AN BT I W

4. % ORI

Question Number : 132 Question Id : 60092911195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THIh! BT JRIRT TRUT YFAYRUTE & DI I TGUE & 8idl 82
Options :

1. #® YRd AT

2. % HT SR o

3.% g

4. ¥ HRAl

Question Number : 132 Question Id : 60092911195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

THIh! BT JRIRT TRUT YFAYRUTE & DI I U & 8idl 82
Options :

1. #® YRd AT

2. % HT SR o

3.% g

4. ¥ HRAl

Question Number : 133 Question Id : 60092911196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I A &1 ARG B &2

Options :

1. ¢ 91 HY R G

2. % gORI T fgad

3. % TSR

4. * HgIqdl aHl

Question Number : 133 Question Id : 60092911196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I AT &1 AP B g2

Options :

1. ¢ 91 YR ™

2. % gORI vae fgadt

3. % I[cIdR1Y

4. % HgIGdl aHi

Question Number : 134 Question Id : 60092911197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



19 fawedl & $o Shafar ok 37 dad! & Sie faU T8 | TA18T 398 4 HIH-91 SISl 7Tad 82
Options :

1. % Do DT RUTE! - 3 I

2. ¥ HAH BT ASIGR - XM fqar @i

3. % 3{ART HHIGT - faw] gHTHR

4. % HETH ¥ - Vg AP

Question Number : 134 Question Id : 60092911197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & T Shafar oik 39 ! & S fAU T8 | TA18T 390 ¥ HH-91 SIIeT 7Tad /2
Options :

1. % Do DT RYUTE! - 3 I

2. ¥ HAY BT HUIGR - Y [qary x@f

3. % AR HYIET - faw] gUTHR

4. % HRTHI §< - g Hp AT

Question Number : 135 Question Id : 60092911198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRIG o & JHTS-GUR B =134 & foe Qeft &1 qui farar mar g2
Options :

1. % Igre it

2. ¥ TRTHD QT

3. % QT Xl

4. % 3THIT

Question Number : 135 Question Id : 60092911198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR St & JHS-GUR &1 Xa-1371 H oo et &1 9o fopar man g2




Options :

1. ® JgY el

2. ¥ TS Qe
3. % Jfaprei I9qquf
4, % 3THIR

Question Number : 136 Question Id : 60092911199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OIS UH YIS, ol faraet dfaaar &2
Options :

1. % S5 AR

2. % YRdg

3. % UHdg

4.« STl

Question Number : 136 Question Id : 60092911199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"I O 40, Spal et dfdaal 82
Options :

1. % % AR

2. % YRdg

3. % UHdg

4. SO

Question Number : 137 Question Id : 60092911200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
CARTYUT | FIRTYUT | 1Y AR-HTY AT,
$5-UG 4 Yl ot I B YURTYAT|




dId 301 ARG B dedd! T H,

OTIR A g 3 AR o H | fpgept Uit &
Options :

1. % gieafy

2. ¢ TR

3. % e ud

4. % ghPpid FUTS! TR

Question Number : 137 Question Id : 60092911200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“IRTYUT | AIRTYUT | 1Y -1,

$5-Ug 4 Yl ot 34t B JURTYAT|

I 301 ARG B dedd! T H,

W A YA I TR a1 H | fopep! dfgaat &
Options :

1. # gRafty

2. ¢ BRYCIRR T

3. % gAred ud

4. % gPeid Borst FRrar

Question Number : 138 Question Id : 60092911201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTG B! VA & Ul Y& &1 fagie foram o g2
Options :

1. % 3T Yo

2. % TR UG fgadl

3. % Hq goR arerudt

4. LTS



Question Number : 138 Question Id : 60092911201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTG B! VA & Ul Y& &1 fagie fram o g2
Options :

1. % 3 Yo

2. % goRl yTg fgad

3. % Hq goR arerudt

4. TS

Question Number : 139 Question Id : 60092911202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR 1Y BT SR A1 IRed ¢ | forres g1 i dfaaar g2
Options :

1. % T Giercil

2. ¢ AR IS Yo

3. % YHdR YRl

4. % e -t

Question Number : 139 Question Id : 60092911202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"SR 1Y DT SR A1 IRed ¢ | Tohrds g1 e dfaaar g2
Options :

1. % T el

2. ¢ ST TEE Y

3. % yHdR YR

4. % oy grg

Question Number : 140 Question Id : 60092911203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
20 T 7 AR T & BT Y fa=ieaT el /2

Options :

Question Number : 140 Question Id : 60092911203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STH 3 1 AR T & 1 &1 [a=wd T8l 82

Options :
1. % Zfdgaicehd
2. % HIfAD Bg
3. ¢ TP il BT YART
4. % TS SIcdl BT YA

Discipline3
Group Number : 8
Group Id : 600929442
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline3

Section Id : 600929597
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929717
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 60092911204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR ORY T8 SR HIAdT &b ARl DI g2
Options :

1. % 3 Rig Surer

2. % YRdg gRYs

3. % 3ffRyepIGT AN

4. ¥ TEIAR TG fgadl

Question Number : 141 Question Id : 60092911204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR A T8 =M HiAT & AT B 82
Options :

1. % 3 Rig Surar

2. % YRdg gRYs

3. % SHfTyhIed AN



4. ¥ HETAR TG fgadt

Question Number : 142 Question Id : 60092911205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sagy gy ford oy § UeeTiRId g
Options :

1. % 1905

2.9 1910

3. % 1912

4. % 1913

Question Number : 142 Question Id : 60092911205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sagy gy ford oy § UeeTiRId g
Options :

1. % 1905

2.9 1910

3. % 1912

4. % 1913

Question Number : 143 Question Id : 60092911206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG AT HIAdT & B DI g2
Options :

1. % ETISH

2. ¢ foRTen

3. % Uqd

4. ® HERATY UATA




Question Number : 143 Question Id : 60092911206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG AT HiAdT & B DI g2
Options :

1. ® AN

2. ¢ foRren

3. % Uqd

4. % HERATY AT

Question Number : 144 Question Id : 60092911207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad o S=-a1 = AgeTa 82
Options :

1. % SUgy qY

2.« Hiohd

3. % Ggact

4. % fHAG Y

Question Number : 144 Question Id : 60092911207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffed & o1F-91 IR 75161 87
Options :

1. % SAgY 9Y

2. ¢ Hlohd

3. % Goact

4. % AUYTYqY



Question Number : 145 Question Id : 60092911208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 fg Sfadr & Metia & Siaeid 7= ST 82
Options :

1. % Jodiar & Ug

2. % gMH[

3. % RN & Y M

4. & WIS

Question Number : 145 Question Id : 60092911208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed # 9 forg wfadr &1 Aeiid & sidifd AT siTar g2
Options :

1. % JeiGN & Ug

2. % YMHI

3. % PRaN o I T

4. TS Hfd

Question Number : 146 Question Id : 60092911209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faa 1 3raar JHiT YT, T U1 P& difed gl =l _
T RRa W ot 99 e, HHfCH-FA-aeay & YT | Uidadr feg wia o1 g 2

Options :

1. % SIORIDHR UG

2. ¢ e Rig Surenma
3. % e

4. ® NI



Question Number : 146 Question Id : 60092911209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faaq 1 Sau™ FHIT YT, T U1 $© dlied i =l _
T e IR 2 579 I, HARH-Ha-aeay &1 THT | Uidadl fod &fd 31 g 2

Options :

1. # SORIHR UG

2. ¢ e g Jurenma
3. % e

4. % NI

Question Number : 147 Question Id : 60092911210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & § D F-I1 ST TG St gRTAd 81 62
Options :

1. * HBUMT

2. % fREMYR

3. ¢ 379d faay

4. % SRl

Question Number : 147 Question Id : 60092911210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & A D F-91 ST TG St gRT A 81 62
Options :

1. % H2UMCT

2. % YR

3. ¢ 94 faery

4, % RAT




Question Number : 148 Question Id : 60092911211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THTd & GHHAR Hid 3R BT Hed1 &1 Hiq [hY el ol 82
Options :

1. % YRdg

2. % HHAT DI

3. % fda anf

4. ¢ grAEA Ud

Question Number : 148 Question Id : 60092911211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Upid & HAR Hd R ST Hed-1 BT Hiq [y Hal Sl 82
Options :

1. % YRdg

2. % HHAT DI

3. % fAdd qaf

4. v QR O

Question Number : 149 Question Id : 60092911212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T ¥ DIH- god B¢ B! Hiadl ol 82
Options :

1. % ST fihR Th IR

2. % dlqd T

3. ¢ RS

4. % PHITI

Question Number : 149 Question Id : 60092911212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g7 ¥ DIH- god B¢ B HiadT el 82
Options :

1. % ST fR T aR

2. % 9IGd I

3. ¢ HReT

4. % PPl

Question Number : 150 Question Id : 60092911213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"X & O 8 R AT el dl o1 gol|

3T feeatt & § oR-U-989 J gegaf | Ufdaal forg &fa &1 82
Options :

1. ¢ g8d $HR

2. % ofird

3. % 3R

4. % TR

Question Number : 150 Question Id : 60092911213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"G § T IS B ICT gl al T g

3T feeat & § oR-U-989 J gegaf | tfdaal forg &fa &1 62
Options :

1. ¢ g8d PHUR

2. % Yffrd

3. % 3T

4. % fA_rQ



Question Number : 151 Question Id : 60092911214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! forgep! I 82

Options :

1. ® goadie™

2. ¥ HAR

3. % faemofa

4. % SOl

Question Number : 151 Question Id : 60092911214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T forep! X 82

Options :

|. % godie™

2. ¢ HER

3. % faemufa

4. % SO

Question Number : 152 Question Id : 60092911215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HIAAT & THE Hfd T8 DI 57
Options :

1. ® fRren

2. % &I

3. ¥ 3R

4. % Ul

Question Number : 152 Question Id : 60092911215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T2 HIIdr & UG Hfd 370 A S &2
Options :

1. % fARre

2. % IR

3. ¢ 3R

4. % T

Question Number : 153 Question Id : 60092911216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 9 SH B9 T & HUESH 67
Options :

1. % A YR aH

2. % §aiqd SUTHT

3. % §ciad UG Ay

4. fayTy oS fay

Question Number : 153 Question Id : 60092911216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ P g TuTact & WuTed 72
Options :

1. % WY YR eH

2. % §aigd U

3. % Sdcd vTG Ay
4. ¢ Ty gre oy

Question Number : 154 Question Id : 60092911217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TIYRT fore! T BT Hid 82
Options :

1. % fRrauvre Rig ga-

2. % HERATY ST

3. ¥ AN

4. % 33T

Question Number : 154 Question Id : 60092911217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JIYRT fHaed! U BT Hid 82
Options :

1. % fRramvre Rig g

2. % HERAY AT

3. ¢ AN

4. % 33T

Question Number : 155 Question Id : 60092911218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B T ' & TIPR DI 572
Options :

1. ® 4

2. ¢ A Al

3. % fTY

4. % gigaaiy

Question Number : 155 Question Id : 60092911218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T B T A & IATHR B 52
Options :

1. % 9d9

2. ¢ Y AGAT

3. % fgqaR

4. % gigadly

Question Number : 156 Question Id : 60092911219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e BT am Ad ol H ARG AR g . .

i o 8 e, IR R 1 R T R arave QeI of 11 P ket fewe
Options :

1. % 3gar diay

2. % GUST HHR Ag™

3. % ORISR

4. Hglgd! aaf

Question Number : 156 Question Id : 60092911219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e w1 Am Ad ol Hfag AR g . .

o o § & g, TR 4R €1 SR B TR eravs et oft €11 A dfst feaet 82
Options :

1. % S vidd

2. % GUET HURI AIgH

3. % HRIES

4. HgTQd! aHi

Question Number : 157 Question Id : 60092911220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

9 & 9 forg i o1 aroft &1 feacer FeT omar g2
Options :

1. % gordt

2. ¥ HAR

3. ¥ IR

4. % SOl

Question Number : 157 Question Id : 60092911220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 o 3 forg wfa o) aroft &1 feaeer weTomar 82
Options :

1. % godt

2. ¢ HER

3. ¥ IR

4. % SO

Question Number : 158 Question Id : 60092911221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YUgd [ BT g &2

Options :

1. % gfgadiy

2. ¥ 3R

3. % ARG el Igdel

4. % HHAT

Question Number : 158 Question Id : 60092911221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YUgd' fad! H1 U8 82
Options :

1. % gfgadiy

2. 3

3. % ARG el Igael

4. % HHAN

Question Number : 159 Question Id : 60092911222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 fasedl @ H1H-91 fased I 3T 70 2sg &1 98! Famf 2ee 8 82

RG]
Options :
1.¥ g
2. % gH
3. % gquf
4. % Pad

Question Number : 159 Question Id : 60092911222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faemeal # @ wiH-91 faeey = fou 7Tt wee &1 I gAY e 761 82
T

Options :
1. ¥ gy
2. % gH
3. % gauf
4. ® P



Question Number : 160 Question Id : 60092911223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 famedl o 9 faU U 2reg & 9@T sM& Tl = aran faswed g

B

Options :

1. % B, foxor
2. ¢ TRl g1y
3. % O, B
4. ® HY, HH

Question Number : 160 Question Id : 60092911223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasredl & @ faT 71T Wea & Hgt SHH 1 =0 ara fdsed gy

Hh
Options :
1. % B, frur
2. ¢ U, g1y
3. % ¢, BT
4, % JHY, hTH

Discipline4
Group Number : 9
Group Id : 600929443
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 600929598

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929718

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 60092911224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g fgpedl & 39 faey &) T ot f3U 7T Tree-gw o1 we) 31 aret oo B

SHI- i

Options :

Question Number : 161 Question Id : 60092911224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 39 famed &1 g Sl fau 7T Weg-g &1 Tal 37 arel [ddhed g
SHI- i

Options :

1. % S[HhR-UIT
2. % TH-UR

3. ¥ THHR-GE
4, ® TH-IRM

Question Number : 162 Question Id : 60092911225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 faepedl & & HIH-91 fasbed < fau T8 2z &1 e} fehv Teg &2

gl
Options :

1. ® PIX
2.9 3UU|
3. % Juxi
4. % GG

Question Number : 162 Question Id : 60092911225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15 fawedl & I o -9 fadwed 4 3T U e &1 98! faay Tss 62

g
Options :

1. ® U
2.9 UG
3. % guxi




4. % e

Question Number : 163 Question Id : 60092911226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fawedl o 9 39 fased &1 99 Sifod off T 7T THdue & Tg! TIeH disy 9HY &I fded g
RCEd

Options :

1. % A5 T TY
2. ¢ T8 P e T
3. % Ag U W
4. % B ITT

Question Number : 163 Question Id : 60092911226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famed! o 9 39 faded &1 99 Sifod off T 7T THdUE & Te! GRIGH ey 9N &I [ded g
RCE]

Options :

1. % AT
R A N LECE]
3. % g HEI
4, % AGWR T

Question Number : 164 Question Id : 60092911227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol & @ 39 fdehey &1 9a= B3 o) Ud T §4 e, 1 Tg! [dhed 181 g

Options :
1. ¥ 3Udiq




2. % YT
3. % Hfada
4. % ydrg

Question Number : 164 Question Id : 60092911227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasweal § O 34 fasheu o1 T94 &3 o U O 94 et &1 Ug! fadhed a1 g
Options :

1.  3Udiq

2. % YT

3. % ARl

4. % Ydls

Question Number : 165 Question Id : 60092911228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fasheu &1 9u- Pifore o faT e fave & Il grsdue &1 fased g
&t Y

Options :

1. % dH3MY
2. % f&ATUTG

3. ¢ dHMY

4. % &MY

Question Number : 165 Question Id : 60092911228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashey &1 9u- Pifore o faT U fave & Ul grdue &1 fased g

S BT ATY




Options :

1. % dH3MY
2. % f&ATUTG

3. ¢ dHMY

4. % fgqMy

Question Number : 166 Question Id : 60092911229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15 fawedl & I o -9 fadwed 1 3T U e &1 It Iamdf 2res 81 57

fiye
Options :

1. % 3ury
2.+ MO
3. % Oyl

4, % A

Question Number : 166 Question Id : 60092911229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § HH-1 faeren i faw T wreg o1 Tt TR wrse 81 72
fire

Options :

1. % 3Ty
2.+ MO
3. % OyI

4, % 39

Question Number : 167 Question Id : 60092911230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 faswrey &1 99 ST o 3T 70 IFRaUe & Tl HHURY U &1 fdwe |

qolq

Options :

1. ¥ qd g S o
2. % Hd dl olq
3. % Jd W o4
4, % ga QoA

Question Number : 167 Question Id : 60092911230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & § 39 fashey &1 90+ Hifore o fou 7T THue & el SHYRU AN &1 faddhed g

ool

Options :

1. v |d g ol o
2. # d pl o
3. % Jd W o+
4. % qa Ao

Question Number : 168 Question Id : 60092911231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o famedl & 9 39 fased &1 9T S faT 71U 21t & 9@t sHandf =0 arer fased 181 g
8

Options :
1. % 4i8
2. % O
3. % Uied BT Y[



4. ¢ fbde

Question Number : 168 Question Id : 60092911231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fadedl o & 39 facey &1 gfAT S fou TU wreg & Tt eremrelf = aret ey et B
I8

Options :

1. % Ui

2. % U9

3. # U &I YN
4. ¢ e

Question Number : 169 Question Id : 60092911232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UNTAUAT Ued H &1H-91 Tl 82
Options :

1. % 3{ldd

2.% 49

3. 049

4. % 34

Question Number : 169 Question Id : 60092911232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORTCOT RT6g 8 S H-I1 T 82
Options :

1. % 3Hd-q

2. % 1




3.0
4. % 3

Question Number : 170 Question Id : 60092911233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & q 39 farey &1 999 o2 off R IUT F 57 TS} Tes; g
Options :

1. % YhIRI

2. ¥ IRIYHd

3. % gRumy

4. % U

Question Number : 170 Question Id : 60092911233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faepetl & O 39 [dhed &1 997 X o "W ST J & TE) U g
Options :

1. % UDIRI

2.9 WRYd

3. % gRUme

4. % YO

Question Number : 171 Question Id : 60092911234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 39 fawed &1 gMAT 1l faT 1T Weg-g™ &1 Tal 37 arel [ddhed g
NIERNE]]

Options :

1. ¢ Ufdz-sgofnt




2. % ge-ufad
3. # qIfcrenT-g=ron
4. % gg-gIoi

Question Number : 171 Question Id : 60092911234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 39 fawed &1 g Sl faT 7T Weg-T &1 el 37 aTel [ddhed g
NIERNE]]

Options :

1. ¢ UfaF-g=oi!
2. % gg-ufdx

3. % qifeipl-g-<=Tof

4. % gg-garoft

Question Number : 172 Question Id : 60092911235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fasey &1 98 ST S HIgdTes I3 &1 et fased 81 |
Options :

1. % fgurar

2. % 3ITd

3. ¥ %Y

4. % 3l

Question Number : 172 Question Id : 60092911235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g ol & 9§ 39 fashey &1 90 ST St HIgdTead I3 &1 et fadwed 81 g

Options :




1. % fgurar
2. % ggIHTd
3. ¢ I3Y
4. % BT

Question Number : 173 Question Id : 60092911236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famedl § ¥ 39 faded &1 9a- SITE off He9H YoV arad I &1 el [dded g
Options :

1. % () 3T HTH HR TET§|

2. ¥ (qH) 311 DHTH DR

3. % (d8) 31U BTH B 6T ¢

4. % (I9) 391 H1H o)

Question Number : 173 Question Id : 60092911236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 9 39 faded &1 997 S off 9 I3y arae 431 &1 g fddbed |
Options :

1. % (H) U HTH R IET g

2. ¢ (TH) U HTH DR

3. % (g8) 3T BTH B 3G 2

4. % (IG) 391 H1H o)

Question Number : 174 Question Id : 60092911237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasedl & 4 39 faded &1 99 HIfT o 3T 7T 91 & SR fa=mor & U &1 da! fadhed 3|
g 9gd SR & 3 (UIST U <1 =iy




Options :

1. % gd1HS
2. ¢ URHATUERIS
3. ® TUAD

4. % TGS

Question Number : 174 Question Id : 60092911237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 99 HIfoTE off 3T 7T a9 & SR fa=wor & Ue &1 98! fadwed 8|
g Sgd SR § 9 (UTST UT) 3T =Ry

Options :

1. % 1S
2. ¢ URHATUETES
3. % TUAES

4. % JAAED

Question Number : 175 Question Id : 60092911238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol T 9§ 39 fddhed &1 9g- BT it faU U d1e & SAR gl fobdl Ugay &1 fdeed gl|

31T Y Xfd Fgd <R e 1 8T U]
Options :

1. ¥ FI@ Yl

2. % 9gd R dd

3. % 3l gog

4. % 9gd X AP Q@1 Al

Question Number : 175 Question Id : 60092911238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

79 ol T 9§ 39 fddhed &1 98- BT it faU U d1e & SAR gl fobdl Ugay &1 fdeed 3|

31T Y Xfd Fgd <R e 1 8T U]
Options :

1. ¥ HIGT Yl

2. % 9gd R dd

3. % 3l gog

4. % 9gd X dPb Q@1 Al

Question Number : 176 Question Id : 60092911239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qTe B Ugad Xeal dI 1 FHgl offdl 82
Options :

1. % g8y

2. ¥ Uq

3. % Yeai

4. % gl

Question Number : 176 Question Id : 60092911239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR H Ugad Mea! &1 T gl Il 87
Options :

1. % gg&y

2. ¥ Ug

3. % Qe

4. % o

Question Number : 177 Question Id : 60092911240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

5 fadhed! § @ 39 fddhed o1 994 PIfoTE il faT TT¢ a1 & S9R gl fan ugey o1 fabed g
e oft wiiar U R B

Options :

1. % fOarsi

2. % TdIUg

3. % foar o Mdr g
4. Y UG} T

Question Number : 177 Question Id : 60092911240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 ol T 9§ 39 fddhed &1 Ig- BT ot faU U d1e & SAR el fobdl Ugay &1 fdeed 3|
EEUSIRIRIECRE]

Options :

1. % foarsit

2. % farug

3. % fOdroff i1 ug
4.¥ UGREY

Question Number : 178 Question Id : 60092911241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 oot § § 39 faded &1 904 S o Garad 431 &1 98! fadhd g
Options :

1. % fgarer™

2. ®# QAR

3. ¢ Uidd

4. % fooM




Question Number : 178 Question Id : 60092911241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 fdded &1 997 Bifod ol SHarad I3 H1 Fo! [ddb e g
Options :

1. % fgHTer

2. % ER

3. ¢ Uidd

4. % fooM

Question Number : 179 Question Id : 60092911242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol T 9§ 3 fdehed &1 ag HIfoTE Sl faU T4 a1 & SFAR Hg! fobdl & Ug &1 fddhed 3|

R A Th Y IR §9914]
Options :

1. % 9raYrq febar

2. % Tgad fobar

3. % qhIieidb fobar

4. « YoM fopan

Question Number : 179 Question Id : 60092911242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 fomedl T ¥ 3 fddhed &1 9g HIfoTe Sff faU T4 a1 & S9R 9g! fohdl & Ug &1 fddhed 3|

H A Teh YR W T a1
Options :

1. % 9raYrd febar

2. % Yo fobar




3. % daplicid fdhal
4. ¢ TRUNd fopa

Question Number : 180 Question Id : 60092911243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{9 a1 H BIgeh H 4T TN UGl o1 uR=g a1e fashed gAY

(3R A18!) qH Y G &1 gl B
Options :

1. % T g3y dhad qa-d

2. ¢ gUAIU® T

3. % fagyor

4. % G

Question Number : 180 Question Id : 60092911243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9t o DIge T 3T U Ul &1 uivay ara fased gy
(3R a8 gH Yt |1 &1 el ]|

Options :
1. % AH T3Y drad qa-H
2. ¥ EHAIYS T

3. % fa=iw
4. % T

Discipline5
Group Number : 10

Group Id : 600929444



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 600929599

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929719

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 60092911244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol o ¥ 3 fdsed &1 9a HIfoTe il faU T4 a1 & S8R 9o & Ug &1 9g! [dded 8|
(ST HEd BT Siid (ST 1) BRI

Options :

1. % gydrdd

2. % fygdra®
3. ¢ dYd=h
4. % ygara®




Question Number : 181 Question Id : 60092911244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol o ¥ 3 fased &1 9a HIfoTe il faU T4 a1 & S8R ¥ & Ug &1 gl [dded 8|
(ST HEd BT Siid (ST 1) BRI

Options :

1. % gydrddh

2. % fygdra®
3. ¢ Yd=h
4. % ygara®

Question Number : 182 Question Id : 60092911245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fawedl § I 39 [9ded &1 9aH SO S Udaraes I3 &1 ! [ddHed T8l o)
Options :

1. # dghUd

2. % I

3. % dYd

4. ¢ Tl

Question Number : 182 Question Id : 60092911245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 3 fared &1 997 ST S Higars I3 &1 el fadhed 781 g

Options :
1. % dghUd
2. % HITd
3. % §dYd




4.« Hiel

Question Number : 183 Question Id : 60092911246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fadhed! 9 I fddhed o1 994 PHISTE il faT 7T gt & S8R gl fharfa=ivu ugey &1 fddhed g
S agd i TR A T I R

Options :

1. ¢ §gd 4t i

2. % fftTfia Y Ta < g
3. % JAW S

4. % TSI ggd it i &

Question Number : 183 Question Id : 60092911246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fasmedl & ¥ I fddhed o1 94 PifoTe il faT T8 gt & SUR gl fharfa=ive ggey &1 fddbed g
) ggd He 1 A T W@

Options :

1. ¢ §gd 4t i

2. % R R YT E e
3. % gAY §

4. % TSI ggd e Tia

Question Number : 184 Question Id : 60092911247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C o
B! o Woq, P fdebed FrehR aT T B

I Teell &b 1Y U Sl g




Options :

1. % 309
2.« 3O
3. % JUHl
4. % b

Question Number : 184 Question Id : 60092911247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(o o
gl JA-TH eg BT fdebed TAh dled [T HifuIy

gfe TRl & 1Y U S g
Options :
1. % 304
2.« 30T
3. % 3(OA(
4. % IqH

Question Number : 185 Question Id : 60092911248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad fadeul O WRd gt &1 98l fadbey gy
Options :

1. ¥ O ¢Eax a8 fa9d T4

2. % I g o feram oiR fawes

3. % 98 I a9 T, 59 I g 1|

4. % I Qg <@ qf foran, dfe 98 Rawes

Question Number : 185 Question Id : 60092911248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAafaRad fdewedl O Ovd 91 &1 Ugl fadbed gy
Options :

1. ¥ O ¢Eax a8 a9 T4

2. % I g < foram oiR fawges

3. % 98 q9 9 T, 5e ST g <)

4. % IT- g o9 d foran, A a8 g T

Question Number : 186 Question Id : 60092911249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol o ¥ ¥gad ared &1 ugdn-y|

Options :

1. ¢ T ARG T quT 30T 2 St gl faard

2. % T 3O Y Sfta ARG H faars

3. % T § ARG S aa 301 AW Sfig+ gal faard i

4. % T 9 3T AV Sita AR H faarg ft /@ & a8t S|

Question Number : 186 Question Id : 60092911249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 foeedl # & Wged aTe &1 U=y

Options :

1. ¢ T SN]SR T SO Y SfiaH I8! fadry

2. % T 3O Y Sffa AR H faars

3. % g H MR ST a9 U1 QW Sfia- a8l fadra

4. % T qF 30T AV Sig 3RS H faarg i ofd H gt S|

Question Number : 187 Question Id : 60092911250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad ae o IExg &1 Uel fawe gy



HETEAT Tt gAR O a9
Options :

|. % gOR T Aar g

2. % g Aary

3. % gOR

4.« TGTET TRt

Question Number : 187 Question Id : 60092911250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad 9o o 3Exg &1 Ue! fawe gy

et et gaR O Far 3
Options :

1. % gAR g A1 g
2. % g aary

3. % gAR

4. ¥ TGTET TITel

Question Number : 188 Question Id : 60092911251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftaRad ot # I &1 9&l fawey uganig

Af 7% J Tl Hd PIe gl g
Options :

1. * dIll el PhIc

2. % A

3./ A A% 3

4. % QT A HIC B §




Question Number : 188 Question Id : 60092911251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftaRad ot # I &1 9&l fawey yganig

Af 71 Tl Hd PIe el g
Options :

1. % ISl o] i

2. % A

3./ O A% 3

4. % QT A HIC B §

Question Number : 189 Question Id : 60092911252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g fawedl & 9 ey a1y &) uganAy
Options :

1. % e faemlf Safd v B

2. ¢ Sl foendf wres 81d 8, 9 I Hvd g
3. % Il ArgHl faanedf #d g

4. % Ugq gyl 941 fihr Iafd )|

Question Number : 189 Question Id : 60092911252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 fasmedt § 3 fiy a1 &) yg=nfAy
Options :

1. % Grgd faemdf 39t #=d g

2. ¢ il el |t €id €, 3 Ieife el B
3. % FeIf A faemf d g

4. % Ugal gred! 41 fthr 37T |




Question Number : 190 Question Id : 60092911253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAgferfad o § ®Ig® | AT U Usg 1 IYATH HT A1 9d13Y|

(9 gH TR TR 3T0) e H R W g |
Options :

1. % faR9or Iuar

2. % T IUATH

3. ¢ TopafaRIvoT Suarey

4. % Gy Iy

Question Number : 190 Question Id : 60092911253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ot § Sy ¥ QT 7T Xeq &1 IUaTe H1 A1 §d1zy
(79 A TR IR 3T0) 9 H TR IR a1 o]

Options :

1. % faRIvor JuarR

2. % I IUATHR

3. ¢ fehaTfaRIvur JuaT
4. % G ATy

Question Number : 191 Question Id : 60092911254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f faeeal # @ dged a1 &1 ugHTyY|

Options :

1. % i A & IRE oo, Al H gg1 3 I &
2. ¢ A & IRE I 3R T UgT 8 B &




3. % T UG d9 §¢ B [T 519 I & IRE 99
4. % §g H a1 ugT a9 1 99 IR & TR 79

Question Number : 191 Question Id : 60092911254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% fashed! § 9§ Hgad are &1 Ugan-g

Options :

1. % Sifg A & IRE o, Aife H g da H faa
2. ¢ A & IRE T 3R T UG g PR e

3. % T UgHI a9 d¢ o a1 91d I & IRE T

4. % §¢ B f3T1 U1 ad T 9 A & TRE T

Question Number : 192 Question Id : 60092911255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad fdwedl O Ovd 91 &1 Ugl fadbed gy
Options :

1. % I T B, et ame g

2. % UGA 3T 3THEH! ¢, TR g |

3. ¢ THGH! & TR Td |

4. % @ al B, 99 eI i g

Question Number : 192 Question Id : 60092911255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofad famedl # IRa g &1 9e] faded gy
Options :

1. % I T BRI, Tt 3 g

2. % Uga 3! 3G gl b & d o]

3. ¢ 3G & 3UR Td )|




4. % Td it I, 9 3 31 8|

Question Number : 193 Question Id : 60092911256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftaRad ot # I &1 9&l fawey yganig
T Bt g8 7 i wRferdl & Srafead W et faars)

Options :

1. % 3fu Feferd! o Sfdad W faTs faars
2. % U Heferdl &l SHfead W

3. % §gT A (Ul alerdl bl

4. ¢ RE@ DI g8

Question Number : 193 Question Id : 60092911256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ 35 &1 I8! fddwed ugdy
e 1 o5 7 U wRferl &) srAfeay W fieTs fEers)

Options :

1. % 3Ol Teferl & Sfead W e faars
2. % 3UT weferdl &l THfcad W

3. % qg9 A (U Taferdl &l

4. ¢ R st gga4

Question Number : 194 Question Id : 60092911257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad a9 H ®IN® H ST U Yeg &1 IUATH &1 1H Fd3T|
I8! fdd IAfd BT § (S aReAft ST g 1)




Options :

1. ¢ fa=Iv0r IUaT

2. ® T IUATHR

3. % fopgTfaRivuT Iuare
4. % DHIAYdD IUdIR

Question Number : 194 Question Id : 60092911257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad ared | ®ige | iU T8 eg &1 IuaTed &1 11 FaTsU|
I8! afad IAfa BT | (SN IR BT g 1)

Options :

1. ¢ faRIvur Juar

2. % 1 IUdI

3. % fohaTfaRIvur IUaT

4. % PIYdh SUdIH

Question Number : 195 Question Id : 60092911258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ fada o1 I8! fawed ugag
AGH & T H 3% uferdl & giaad 9
Options :

. % q9DH b

2. % A H

3. ¥ 3Hd Ulerdl o gia

4. % 3D gferl

Question Number : 195 Question Id : 60092911258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fAftafaa area ¥ fada o1 I8! fawed ugany
AGH & T H 3% uferdl & giaa )
Options :

1. % q@H &

2. % T H

3. ¢ 3% Uler™l o Ui &

4. % 3 Ul

Question Number : 196 Question Id : 60092911259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol o ¥ Wgad ared &1 ugdn-y|

Options :

1. % 9 ST SR YT FHTY 98 SleeX & YR 74T |
2. ¢ TSHT SR YT Y 98 Sldex o U 77 ]|
3. % dHR 81 & HRUI I8 TSHI 81dex & U 71|
4. % SigeX & UM 91 98 Ad8dh] Hifdh a8 dHR o]

Question Number : 196 Question Id : 60092911259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o @ Tgad a1eg &I g8y

Options :

1. % 9 TS SR U7 UL 98 Slaer & U 14T U]
2. ¥ TSHI SR YT AT 98 Sldex o U 7T ]|
3. % AR 8H & HRUI I8 ASH] Sidex o U 74|
4. % Zidex & UMY 91 98 o] Hifch a8 dHR o]

Question Number : 197 Question Id : 60092911260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fe fasredl & 9 firy 1o ) gg=nay
Options :

1. % 9 OreT @iiaT 3R 98 9gd vl alsdT g
2. ¢ T3 O ST Wilal, 98 98 oVl clsdl g
3. % OIS HA W1 98 9gd o9l gredl g

4. % §gd a9 GrSdT ¢ 98 HIST S 74 Wil

Question Number : 197 Question Id : 60092911260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fooedl & @ firgy a9 &) wganfy
Options :

1. % F7 deT TdiaT 3R 98 9gd oW cisdT )
2. ¢ H Sl UigT Tial, 98 984 Al 1Sl 8
3. % HI81 A wdal 98 9gd oWl alsdl g

4. % g Al S1gdl § d8 TSI Sl H wial)

Question Number : 198 Question Id : 60092911261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad 9o & Sige | 2T U Yeg 1 IUdTed &1 A1 dadTsu|

NS G EZIIEICEENE:CEAT R E)
Options :

1. % faQyur JuaTRy
2. T IUdie”]
3. % foharfaRiyu Suarey

4. % QRATUERS IUdTe




Question Number : 198 Question Id : 60092911261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRad ared & Sige | 2T U Yeg 1 IUdTed &1 A1 daTsy|

R} - &l b (I8 ol Heg BT 3 )
Options :

1. % o=y Jgare™

2. ¢ I IUdT™]

3. % foharfaRivor IudTa™
4. % URATUETRIS I9dTH

Question Number : 199 Question Id : 60092911262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

W AT 31, 3, I & I1G G g% AT 3, 3, 3 M A A1 Gl (bR o1 51 ol &2
Options :

1. % gdd3 g 3

2. % W I, 3

3./ ST ARG

4. % g, U

Question Number : 199 Question Id : 60092911262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B A1 31, 3, I a1¢ Il 3% AT i 31, 3, I 311 S il <1 FireTeh &1 g1 Sifd 82
Options :

1. % g 3,5, 3

2. % gW 3, 3l

3./ AH ST ARS

4. % WU



Question Number : 200 Question Id : 60092911263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 faw e wree § wged €Y e @1 98 faeen gy
G

Options :

Question Number : 200 Question Id : 60092911263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fow e wree # wged ©fY e 1 9 fien gy

ReciRy
Options :
1. ¢ Y iy
2. % TG
3. % gig Tfy
4. % 3rgrie Y

Discipline6
Group Number : 11
Group Id : 600929445
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline6

Section Id : 600929600

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929720

Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 60092911264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrse 1 g8t IfY arar faw ey ug=nfAwe
dd + IR

Options :

1. % dd3fJdR
2. % ddi{E
3. % dddR

4. TETAR

Question Number : 201 Question Id : 60092911264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe
dd + IR

Options :

1. % dd3{JaRrR
2. % ddi{E}
3. ¥ ddiR

4. TETR

Question Number : 202 Question Id : 60092911265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 70 Wrsgi 1 Tat i arell fasdb ey ug=n=a?

W+§%R
Options :

1. % TRHIR
2. v TRUSR
3. % IRUASR

4. % UIHIR

Question Number : 202 Question Id : 60092911265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U wrsg 1 g8t IfY arar faw ey ug=nfAwe

EITH+§8R
Options :

1. % TRHIER
2. ¢ TRHIR




3. % IRASR

4. % UIHIR

Question Number : 203 Question Id : 60092911266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fau 77U Weg 1 Uat IfY-fawse arer fasey ug=n-u?
[

Options :

1. ¢ fap + T
2. % fdop + 7S
3. % fa+ T
4. % fam+ 9

Question Number : 203 Question Id : 60092911266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U Wsg 1 TE) TfY-fa=s e arel faey ug=nwy
U

Options :

1. ¢ fap + T
2. % fdp + 71
3. % fa+ 7
4. % QI+ 719

Question Number : 204 Question Id : 60092911267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o T ol § 37dT ot TR ¥ A 8§14 W S URad BidT & S8 1 H8d 87

Options :




1. « o iy
2. % TR I

3. % fomf dfy
4. % 31fe 9fY

Question Number : 204 Question Id : 60092911267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o BT e Y 37l forddt TR I Al g1 R S URTcH 8ial § S8 &I Had 67
Options :

1. ¢ o iy

2. % TR Y

3. % fawi dfy

4. % 3Ife Iy

Question Number : 205 Question Id : 60092911268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el fau 7T 2reg W w4 dfY Ye &1 Ig! fadwed gy
3d

Options :

1. ¢ U Sy

2. % 3¢ WY

3. % T[UT Y

4, % oA Y

Question Number : 205 Question Id : 60092911268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fau e wree § wged €Y e @1 98 faeen gy



3d
Options :

1. ¢ U Sy
2. % 3¢ WY
3. % T[UT Y
4. % IS Y

Question Number : 206 Question Id : 60092911269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faU 71T Wea] 1 Ue! WY arer fawed uganu?
=+ 3y

Options :

1. % Higqy
2. % {485
3. % 8y
4.« A9y

Question Number : 206 Question Id : 60092911269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i ST U Treql 1 Yot IiY arar fawed ugan-g?
= + QY

Options :

1. % Higqy
2. % fAgq
3. % fAQy
4. ¢ A8y




Question Number : 207 Question Id : 60092911270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faU 7T e 1 Yol WY 9Tl fawm ey ugdn_u?

YC + 39
Options :

1. ¥ YglHd
2. % Y4
3. % Ycdd
4. % Y3

Question Number : 207 Question Id : 60092911270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu 70 Wsgi 1 Tat IfY ard fasb ey ug=nta?

Y + AT
Options :

1. ¥ YgIHd
2. % Y44
3. % YcAd
4. % Y3

Question Number : 208 Question Id : 60092911271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= faU U Tsg 1 I8} TfY-fa=de aren fasey ug=nw?
AT

Options :

1. ¢ HIq +3{1e




2. % AT+ Y
3. % H[+ 33?
4, % ﬂﬁHaﬂéQ

Question Number : 208 Question Id : 60092911271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu 7T Wee 1 Uat IfY-fawse arer fasey ug=nu?
TG

Options :

1. ¢ I +3MTG
2. % HET+ o

3. % 77+ ™

4. % O + MG

Question Number : 209 Question Id : 60092911272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 3T 7Y 2eg o1 et WiY-fawse drer fasey uganw
Hfaer

Options :

1. «*am%%rm

2. % Gl + 4

3. % Tfa+ ¢q

4. % g +fauH

Question Number : 209 Question Id : 60092911272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e U Treg 1 Tet Af-fowse aren A ug=n_u?




BICUIE]
Options :

1. ¢ 9 + faym
2. % gdt + 4
3. % gfd+ 49
4. % g +fay™

Question Number : 210 Question Id : 60092911273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 W a9 &1 ugfaal s g2
Options :

1. ¢ qUiATEHD, AT, UdasTRie

2. % HAgIND, Vg, SMeATds

3. % Afde, AifefA®, avHIESs

4. % yiifer, TN, qUHIAS

Question Number : 210 Question Id : 60092911273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
EEE R RN NICRIE Ea R AR BICIE R K
Options :

1. ¢ U, Wfeid®, Uaeie

2. % HAgIND, g, AT

3. % Afiep, Aifefd®, IuHIAS

4. % i, T1a8TRD, JUHTHD

Question Number : 211 Question Id : 60092911274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&<t qufaren & 'af STR 31 T B2
Options :

1. ¥ IR

2. % oM

3.+ 3ANTATE

4. ® FYadier

Question Number : 211 Question Id : 60092911274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et qutaTa & '3f 3R 3f: T g2
Options :

1. % IR

2. % oA

3. ¥ {ANATE

4. % GYIER

Question Number : 212 Question Id : 60092911275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o et & O 1 39 T & SRSl 82
Options :

1. % YRd g, AfgH We, qwe, Ay

2. % Ay, U, STy, HigH He, Sy diférd
3. % HI9 Ay, fAEmeR, IoRR, TIed

4. ¢ qicde, Ypdb, He-TID, T

Question Number : 212 Question Id : 60092911275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 faweal & § HH T I & ARAT 82




Options :

1. ® YRd g, Afed yg, Ae, faymmy

2. % fayIY, U, STy, HigH v, 31wy difard
3. % $Hra iy, faameR, IeRTR, S/

4. ¥ AleIe, g, He-TID, T

Question Number : 213 Question Id : 60092911276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teh gIeT Tl TR & 3R garr fpaes ufga &
Options :

1. % fRranvre Rig g

2. ¥ HERATY YT

3. % IR Ay

4. ® JMPHAR

Question Number : 213 Question Id : 60092911276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gUIST aTel 'R # 3R g3 faraapt dfdd g2

Question Number : 214 Question Id : 60092911277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 ¥ I AFRY TRl 4T & SR § 51 82

Options :



1. ® JHARME Yy
2. % YR G-
3. ¢ A Yo

4. % 3R RIIHAR g

Question Number : 214 Question Id : 60092911277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 I DI AR T=IRUT GUT & JRATH! F 81 82
Options :

1. % AR Ay

2. ® WYHYER ™

3. ¢ HES Y

4. % 3R RapaR Rig

Question Number : 215 Question Id : 60092911278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 foa e SraffarT & Yugs &1 S faam
Options :

1. % S Heled I3

2. % R M TR

3. % ST UG Ty

4. ¢ FEITRITU TR THY!

Question Number : 215 Question Id : 60092911278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
75 & G g 31 Braftrt & Hurad o1 B fbar

Options :

1. % §Tg HgIcd I3




2. % TER TH et
3. % gl gIe AN
4. ¢ FSIFRIIU TR THY!

Question Number : 216 Question Id : 60092911279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRdg 7 foeeh qRaR guur ey &1 feg et H ferar
Options :

1. ¢ qUidTH

2. % IS Al

3. # PIAIHD

4. % JURU

Question Number : 216 Question Id : 60092911279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRdg A faeel @RaR quur ey & fore el # foram
Options :

1. ¢ qUIEHD

2. % IS el

3. ® DAHD

4. % R

Question Number : 217 Question Id : 60092911280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3NTETT & HET Hfd B A2

Options :

1. ® 94N

2. ¢ TRdIQr™




3. % AU
4. % galcld

Question Number : 217 Question Id : 60092911280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Mfear & HeM & B A2
Options :

1. % A1HIq

2. ¢ IRl

3. % Y™

4. % EIUIN

Question Number : 218 Question Id : 60092911281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl &1 IRT et T 82

Options :

1. ® AN

2. % faTaR

3. ¢ Rraria Rig goA

4. % o9 AR gord

Question Number : 218 Question Id : 60092911281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fArEt Bt IRTT fpaat AT 82

Options :

1. % ETISH

2. % faqaR

3. ¢ Rrara Rig gu



4. % fa9 PAR Yot

Question Number : 219 Question Id : 60092911282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEt 1o & UyH SfageR & 82
Options :

1. % A Yo

2. % Siiol B

3. % faRig ¥R

4. T & Tt

Question Number : 219 Question Id : 60092911282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et afecd & UuH SfgaR ®1H 52
Options :

1. % g Yo

2. % ol B

3. % fRafRig AR

4.« T & ARA

Question Number : 220 Question Id : 60092911283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao seRiuare fgad) & fra Iu=arg &1 afka g2

Options :

1. % G=a

2. % M BT Uil
3. % I& dgad

4. ¥ SIUTHE DI AHTHBYT




Question Number : 220 Question Id : 60092911283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e seive fgadh & frg Iu=arg &1 I 82

Options :

1. ® QAaT

2. % SFEMEN BT Y1l
3. % & dgad

4. ¢ dIUIYE BT STAHBYT

Discipline7
Group Number : 12
Group Id : 600929446
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline7
Section Id : 600929601
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 600929721
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 60092911284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3UY & UR TegA-diel BT 21 fobarebl UfeRd &2
Options :

1. % gRARY T

2. ¥ HgIcdl aHi

3. % AR AUTdl

4, % &g AT

Question Number : 221 Question Id : 60092911284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y & IR IaA-die BT 2 fhaet ufdd g2
Options :

1. % gRAWRM T

2. ¢ Hglgd! aaf

3. % IR AU

4, % &g qHI

Question Number : 222 Question Id : 60092911285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R BT Hed AR T8 IR U FTAT fORTord! § 1" & HH-91 ABR 82
Options :

1. % YAV BN



2. % JAD PR
3. ¢ U 3ADBR
4. % JUAT 3[AhR

Question Number : 222 Question Id : 60092911285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"R BT o AR THT 3R U FTAT foRTordt 81" H -1 SAPR 82
Options :

1. % TAY 3iHR

2. % gD AABR

3.« U ADR

4. % JUHAT ABR

Question Number : 223 Question Id : 60092911286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST SUAM 3R IUHT & 7T a1 31 feamar ST a9 98 $H-97 3[AhR Heard 8?2
Options :

1. ¥ =Uh

2. % 3UHI

3. % JAaT

4. % HFAIBROT

Question Number : 223 Question Id : 60092911286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STe JUH 3R IUEY H AT AT 3G B/ ST 9 I8 DIH-91 SHABR Hyardl o2
Options :

1. ¥ ¥Uh

2. % 3UHI




3. % Jam
4. % HHdIHROT

Question Number : 224 Question Id : 60092911287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a5 D1 o1 i & HRUT foddT Xeg BT G 31 T STl § 98 HH-UT Weg Wi Hea 67
Options :

1. % I&un

2. % oAl

3. ¢ YT

4, % gl A&

Question Number : 224 Question Id : 60092911287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yeg ! For Wfad & HRUT hl Weg o1 T 31 TH ST § 98 D131 g Afdd Haard g2
Options :

1. % &M

2. % SOl

3. ¢ JHfHYT

4, % Tl AU

Question Number : 225 Question Id : 60092911288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"EeTd g IR D1,8R el §R TMTd 1 31 el o1 TarH TR, 311t bt Bld H |

3T A -t BfA,SG B aF S| MY Tara & IRRELH ot S S a1 § $H-91 8¢ 82
Options :

1. % 9

2. ¢ TifdeT



3. % FUY
4. % §Ra

Question Number : 225 Question Id : 60092911288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Gl & T1aX 1,gR et 8 TMTa H | 311 firdl 3ie 2umH W, 3{THe &1 31d Hl |

3{TISHY 7 FIg-T B3, SR &t ar S | 79 Taral o IRREH St <At o9 aY | 1 | 19-31 96 82
Options :

1. % TS

2. ¢ TfdeT

3. % U

4. % 99

Question Number : 226 Question Id : 60092911289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl STBR Teg 3R 372 G TR SR IGHR Gl DI THDBRI DR § I8l DIH-T SABR BT 6|
Options :

1. % QIR

2. % YIADR

3. % JAUE

4. ¢ JHATADR

Question Number : 226 Question Id : 60092911289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl SEHR Teg SR 372 G TR SeTRd IR S b THDR! B & g1 HIH-91 AHABR gl & |
Options :

1. # YeqTIDBR

2. % YfdBR




3. % JeT
4, ¢ IHATADR

Question Number : 227 Question Id : 60092911290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 gRiTeT R 7 o e fay &1 ||
&0 HR P 98 g1 3aH fRd 7 It HIHd ST || H HIH-T7 39 82

Options :

1. % U ™
2.9 3gyd ™
3. % YYHh Y
4. % A

Question Number : 227 Question Id : 60092911290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<9 g=Mel ] g & wrad fay &1 A
&0 HR P 98 g1 3dd fed 7 It HIHd ST || H HIF-T1 39 82

Options :

1. % dYHI
2. % JHgHd ™
3. % YYHh g
4. % YA

Question Number : 228 Question Id : 60092911291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"FeRGlal SR SR, i g TR
@ °fe, J UYST, A BAR &b SR | " H DIH-I} Weg-fek 32

Options :



1. % 3ff odem
2. % YIS A&
3. ¢ QMMed] A
4. % YT Yeg, fad

Question Number : 228 Question Id : 60092911291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"FRGIIa) SIRT S, R 9 g TR

B °fe, J GEHTIST , d SR P aR | 1" H PH-H} Yoo TfRT B2
Options :

1. % 3Tff e

2. % YYISddl &N

3. ¥ gl T

4. % 3T Toq Yferd

Question Number : 229 Question Id : 60092911292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H g’ Hid & TR S |2
Options :

1. % W

2. % JeqN

3. ¢ g™

4. % X9

Question Number : 229 Question Id : 60092911292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HT Taraet Pl o TRl B g2

Options :



1. % RN
2. % 93
3. ¢ qadia™

4. % 9

Question Number : 230 Question Id : 60092911293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Wb g Y-, TSI R A TRRY P |

T, A9, de - faAfUsd, =M ST 3 &g 796 | | § SH-91 39 Afgd 82
Options :

1. ® YA

2. % A%

3. % g

4. ¥ HIUI Y

Question Number : 230 Question Id : 60092911293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TRl g1 JA-3, T S H G’RY F |

T, 319, 9&1 - [9aoed, U HYUTd &g 7 9d | | § S1H-91 39 Figa g2
Options :

1. % I

2. % JE T

3. % 8l

4. ¢ HDUIY

Question Number : 231 Question Id : 60092911294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR -1 TR gea 81, Y -3 S 81 et 7971 & SI9-97 36 R 82



Options :

1. # TUD AADR

2. ¥ IUHT AADR

3. % I 3APR

4. % AR DR

Question Number : 231 Question Id : 60092911294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR -1 TR g 81, i) -1 St 81 a1 797 1 & D 19-1 3B 82
Options :

1. ® TOD 3APR

2. ¢ JUAT ADR

3. % I DR

4. % Jffaifad rdidR

Question Number : 232 Question Id : 60092911295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"qg 3T &I ¢ Pl o B, TSIl U W AT | Ue-Uie aH! fiaHs € U, Id 81 agpiedl o,

TSR aF DI, Y e &1, 48 BE-TRHT el BT BArdT, &l ¢l datol & BT, ISdTdl 0 TR 3M1aTl" H HH-91 66 62
Options :

1. ¢ Had ©q

2. % OIS &q

3. % gftfes B¢

4. % gufgd B¢

Question Number : 232 Question Id : 60092911295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"gg 3T &1 ¢ ol o BRI, TSIl U TR T | Ue-Uie aHl fidds € U, Id I8 dgpiedl o,




TSR M &I, Y e &I, 4g Bel-QRIA! Sl &1 Hardl, &1 ¢ el & Hdl, TS dTdl 04 W A" H HH-91 8¢ 82
Options :

1. ¥ Had 8¢

2. % A6 &¢

3. % gftfe @e

4. % qUigd Bg

Question Number : 233 Question Id : 60092911296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AYHUT fhwT HIeg TUE ]2

Options :

1. % fgTax

2. ¢ YAl aR01 9T

3. % Ud

4. % U4l

Question Number : 233 Question Id : 60092911296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT a1 PHTo TUE B2

Options :

1. % faeTee

2. ¢ YATTl TR A

3. % gd

4. % Jdlq

Question Number : 234 Question Id : 60092911297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YD BUTS dH-1dh BT HTATHRD fHa AT STl 62




Options :

1. % gy foro=if
2. % g §ff

3. ¢ S e

4, % TR B

Question Number : 234 Question Id : 60092911297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MYFH BUTS db-Id BT MISHRSD B AHT ST 32
Options :

1. % g9 foru=if

2. % g &t

3. ¢ Sl e

4. % TRC BRI

Question Number : 235 Question Id : 60092911298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUHIFTST & HF H SHTHYU UT FR, 3T U3 I o fTT HIH-97 faTa gt 62
Options :

1. ¢ 39 faqmu=

2. % GG faqTo

3. % FRTAS fagmo=

4. % 3N fagmaA

Question Number : 235 Question Id : 60092911298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUHTATSN & 7 | STHYUT UST B, 30T US I & T S 19-97 fagmo= gid1 82

Options :



1. ¢ 39 faqma=

2. % GG faqTo
3. % gy fagme
4. % 3N fagmaA

Question Number : 236 Question Id : 60092911299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e SREER “Iad HIUS’ B 8 [y &7 urg! da ugadt U1
Options :

|. % FYIR

2. % GHAR

3. % AR

4. ¢ HIAAR

Question Number : 236 Question Id : 60092911299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e d SREER “3a-d HUS’ B WK [y T UTd ! b ugadt U1
Options :

1. % gYaR

2. % PR

3. % IqAR

4. ¢ HITAAR

Question Number : 237 Question Id : 60092911300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETh R BHId THT YL hl TUET i gl IMgu?
Options :

1. % fooy 9 Rexff




2. % fGdd 9 3y
3. ¢ WY g GRS
4. % Wy g ol Sfteq O gweifed

Question Number : 237 Question Id : 60092911300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Hd JHY U8l B SWTT B4t giH1 A1fgw?
Options :

1. # oy g gRexlf

2. % iGN d 3RUY

3. ¥ W¥ § URGNIT

4. % Wy 9 {5l Sita Y Feaiferd

Question Number : 238 Question Id : 60092911301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I P! dg db SR I Jdg UR A T ISR B Dl §H 1 hgd 82
Options :

1. % 3Mfs TABIRAT
2. % W AR
3. ¢ Giolt GBIl
4. % Y0 GFABTRGT

Question Number : 238 Question Id : 60092911301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I B dg dPp b 34 Jdg R A T SOTR B34 | TH FIT had a2
Options :

1. % 3 uEemIRar
2. % G YARINA




3. ¢ @iolt GBIl
4. % YO GBI

Question Number : 239 Question Id : 60092911302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fepelt afreref feraTs b1 §aIg 3IehRUl Rl T BBl 82
Options :

1. ¢ 3

2. % Yo

3. % Yoo

4. % Yg oG

Question Number : 239 Question Id : 60092911302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foreit STGRl foraTs &1 ag SFIHRUN AT T HEaTdl 87
Options :

1. ¢ 3@

2. % Yo

3. % Yo

4. % YO U9

Question Number : 240 Question Id : 60092911303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR U URYG &1 RITI Hd g5 &2

Options :

1. % 47g, 1966
2. ¥ 4 JATE, 1966
3. % 4 9ATS, 1956



4. % | A, 1966

Question Number : 240 Question Id : 60092911303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR U URYG &1 RITI Hd g5 &

Options :

1. % 478, 1966
2. ¥ 4TS, 1966
3. % 4TS, 1956
4. % | A, 1966

Discipline8
Group Number : 13
Group Id : 600929447
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline8
Section Id : 600929602
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929722
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 60092911304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 O 7 faqToe aRaA &1 e 1 gl 82

Options :

1. % SOR | 1 fordfl 2t 9% a1 9a1 Dl BRI <l dob Ugar|
2. % AN & A ARKTSH ol THITdd A o forg|

3. % Id1G & Ul ANl & 7 | fayg-iadt g o g

4. ¢ fH 3l I & AHPRIHD STcll DI Fedb JIHA ]

Question Number : 241 Question Id : 60092911304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 I 1 91U e &1 T B g 62

Options :

1. % goR T 3t fopdft 7t o a1 Wl bt TSR ATl db UgdHT|
2. % AR o B ORI DI YT DR o feru

3. % JAIG o Ufd AN o H | [AyT-adT g™ o Q|

4. ¢ ool IATE o AHRIAD dTd| bl Faldh Y T|

Question Number : 242 Question Id : 60092911305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR ARG P HTHT Qelt Bt g =nfge?

Options :



1. % 9gd grURUG

2. % YHIEGR d BTaRaR UV
3. % foqy I HidA

4. IRA, JAY T HHYD

Question Number : 242 Question Id : 60092911305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR ARG T TN Rt bt I AMeT?
Options :

1. ¥ dgd g™

2. % YOIIGR 9 GTARGR HTHT

3. ® fRIg g Bfo

4. IR, gAY T HHYB

Question Number : 243 Question Id : 60092911306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foriTa fagTom frd) aveT ST 82

Options :

1. ¢ foFiopT Tey g U ¥ onfdfes nfafaftat 9 gar g

2. % Y fagTUA fere, TIRIEd T 3fed oqge Rl §iT 8

3. % Sl Fed °1d, SUBRT TG DI 968 H gl & e A 8 ©

4. % SN RIS, FETYIE, U THS & St W) F Tid 8idl 8

Question Number : 243 Question Id : 60092911306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
farcia faqmo ford weT S &2
Options :

1. ¢ o1 ey T w0 ¥ i nfafafedt 9 giar g




2. % ) faxToA e, T=IRRd Ut et Tl Bl &
3. % O = AT, IUHRYT 311fE &1 Ha H gfq F I 8IaT 8
4. % SN RreMye, YEATIe, U THS & Siig W) I WEfd gidl 8

Question Number : 244 Question Id : 60092911307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R I “fgct raa1dl fgaw & 7= SrdT 82
Options :

1. % | A3 &I

2. % 30 GH Pl

3. 30 {S &I

4. % 5SEDI

Question Number : 244 Question Id : 60092911307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R I et vHABIRT fgaer o T Tl B2
Options :

1% | ISPl

2. % 30 G Pl

3. ¥ 30 T8 &I

4. % 5SH DI

Question Number : 245 Question Id : 60092911308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
290§ DH-IT TR &1 gfsd T1ed T8 82
Options :

1. # 3YAR

2. ¥ Xa”H




3. % UfFeTg
4. % Qxdh

Question Number : 245 Question Id : 60092911308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2T Q HH-U1 SHUAR $1 gfod Aeqd 81 82
Options :

1. % LR

2. ¢ G&RH

3. % gR®IY

4. % Q&I

Question Number : 246 Question Id : 60092911309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HT AR & G F HIR ISHR el BT Iguled BT ol SMArdd BT YU 1 5" T8 el 7d 87
Options :

1. % 3T g vTE fgadl

2. ¥ =G GAR dTelud!

3. % I AR Yo

4. % I WHYR aH

Question Number : 246 Question Id : 60092911309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HTH TRA & RIGI T SHUR IoHR Uad Bl IgHTe- BT &1 AdD &1 U4 BT g T8 [T 7d &2
Options :

1. % 3TeTd goIR! U9TG fgda!

2. ¢/ g AR JreioA!

3. % I AR Yad




4. % qIq WM a

Question Number : 247 Question Id : 60092911310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"SFUTT foh g ATeafasn & Sfarfd iaT 82
Options :

1. # Ygd-

2. ® Fqlch

3. ¥ xUp

4. ¢ TiifaHTeY

Question Number : 247 Question Id : 60092911310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"SI o TeafaeT o Sfaid ST 87
Options :

1. #* Ugdd

2. ® HlcH

3. % ¥Udp

4. ¢ TiifaATe

Question Number : 248 Question Id : 60092911311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafIRed & ¥ 1 "0yH IR 9" &1 Hid Tl 62
Options :

1. ¢ YRR FEIR Rig

2. % FIRSTHHR AIYR

3. % giaaary

4. % JYTHR AT




Question Number : 248 Question Id : 60092911311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FafaRed # ¥ ®F "0yH IR <i®" &1 Hid Tl 62
Options :

1. ¢ R TRIGR Rig

2. % MIRSIHAR AR

3. % Hfaqaiy

4. % JYTPHR ATIA

Question Number : 249 Question Id : 60092911312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 3reaH & oy ¥ Tafdd g fawent & o141 fadwey Ted 82
Options :

1. % 3Ot FeR-uiRfera W o Ty o oI &1 it a1 Riepraft &1 Fea|
2. % [y & ol Ush Yo &1 fasp |

3. % UfaeTRie quT TR Spia &l Ui |

4. ¢ T3z yrwrel Y 3T HI | AT |

Question Number : 249 Question Id : 60092911312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI 31 & oy Gefdd Ay faweat & S-a1 fased Tad 82
Options :

1. % Ui ReR-uRRfera v o fawg & formman 1 qfta a1 =iw1si &1 Fda|
2. % 3y & fore U yTwT &1 faer |

3. % UfaeTRie aur uiifaeiiie X fa &1 ufvem|

4. ¢ Tqa=f YroTaef &1 3G SR | el



Question Number : 250 Question Id : 60092911313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR Ao &1 THRTe et TU8 & aad B 57
Options :

1. % oo HIdsh

2. ¢ WG <A

3. % g

4. * faenfary iy

Question Number : 250 Question Id : 60092911313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRl Ao &1 THemd Fee TU8 & aae B o7
Options :

1. % fooris |Tds

2. ¢ JHAEY =H

3. % g

4. % faenfary foy

Question Number : 251 Question Id : 60092911314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AqId & UdaH &1 9 [ feam omar g2
Options :

1. ¥ i g9Tg Rig

2. % 3RY

3. % Bl ol

4. % TARR

Question Number : 251 Question Id : 60092911314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ATl & Uad &1 97 {6 fear Srar g2
Options :

1. ¢ 3ol UG R

2. % 3R

3. % B R

4. % YERR

Question Number : 252 Question Id : 60092911315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"33 3 TR Xea” by i & Pidt g2
Options :

1. % WiUd fardd

2. ¢ Uhid JiaRdd

3. % Y 4laTdd

4. % 3Tl i

Question Number : 252 Question Id : 60092911315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"31 § TR ¥eg" forg &fa 1 pfa 82
Options :

1. % Wid diaRdg

2. ¢ Uhid JlaRdd

3. % i laRdd

4. % 3Tl Hard

Question Number : 253 Question Id : 60092911316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

qdHeIHId PI GaRT ATH &7 52
Options :

1. % YD BI

2. % 3fgepTd

3. % 3fderd

4. ¢ UfaiPpTal

Question Number : 253 Question Id : 60092911316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qaHeIHTd BT GERT ATH F1 87
Options :

1. % 3MYHADHBI

2. % 3fgepre

3. % Yfcrepre

4. ¢ fddepTal

Question Number : 254 Question Id : 60092911317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad & 9 St siefemT Hid fasida TRRT 918t & 82
Options :

1. ® {a™

2. STt

3. % Hiigrara-

4. % g A

Question Number : 254 Question Id : 60092911317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed o O SH-3t sia $id fasda TR 9l &1 82
Options :

1. % Qe

2. ¥ Sl

3. % qiigTeira

4, % 3 HHET

Question Number : 255 Question Id : 60092911318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T ARATD D1 YUTG B fobe foham
Options :

1. % JHfder gHl

2. % DHERATY YT

3. 3R

4. % ST

Question Number : 255 Question Id : 60092911318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT dRAWD BT JUIeH B fobae fomar
Options :

1. % JHfaarg Wi
2. % HERAY Uard
3. ¢ 3R

4. % NI

Question Number : 256 Question Id : 60092911319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ H-91 Ho0 7 &1 favieh 82



Options :
1. ¥ 8]
2. % 9R
3. % YgHH Y
4. % HgHdxd

Question Number : 256 Question Id : 60092911319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad & § SH-a1 Hou g &1 farieh 82
Options :

1. ¥ g™

2. % dR

3. % HYOHH XY

4, % 3{qHd ™

Question Number : 257 Question Id : 60092911320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TS e T ford SfTara® &l g2
Options :

1. % IRId Gl

2. % GOl gt

3. ¢ Wb GRSl

4, % RqHM G gar

Question Number : 257 Question Id : 60092911320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR TS fEhiy as fhy siTeiad &1 g2

Options :



1. % IRId Gl
2. % GOl b
3. ¢ Sl GRSl
4. % A g g

Question Number : 258 Question Id : 60092911321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FHoT & T ! T 81 I AT 5" [ Hu 82
Options :

1. % ARYRR T

2. % Yudq

3. % I TS YEd

4. ¢ QAT Ud

Question Number : 258 Question Id : 60092911321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"B HeUHl & T D! T 531 I A1 g [Tt wua 82
Options :

1. % AR T

2. % Uudq

3. % AR HA% ad

4. ¢ GiEAMG Ud

Question Number : 259 Question Id : 60092911322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
s &1 SNamT faa! Hiadr g2
Options :

1. ¢ ARG adae]




2. % 9d9
3. % fgadt
4, % GG

Question Number : 259 Question Id : 60092911322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g Bt AT fhaat Hiadr g2
Options :

1. ¢ HREATd aqdet

2. % 4

3. % fgad

4. % TGl

Question Number : 260 Question Id : 60092911323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIRGR St = 3O+ 321 B I % R =9 %7 90 fhar 8, 98 S e?
Options :

1. % {I[, bR

2. ¢ T, fFRTR

3. % YRl IR IR B are

4. % QNI I T B arel

Question Number : 260 Question Id : 60092911323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PHERE Sff 7 (U= T H 7 P o U o1 gui fHar 8, 98 Ha1 82
Options :

1. ® WM, THR

2. ¢ o, PR



3. % Rl R a1 HA arell
4. % QNN Bl T B a1a

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 261 Question Id : 60092911324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Discipline9

14
600929448

Discipline9

600929603
1

Online
Mandatory
12

12

20

Yes

1
600929723
Yes



i H1 g Cel o WIE [y Iuf TR gai um
Options :
1. # 1961
2. % 1963
3. % 1964
4. % 1965

Question Number : 261 Question Id : 60092911324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

die B Hg <ol ¢ T8 [y oy Ua1iRId gai U
Options :

1. #® 1961

2. % 1963

3. ¥ 1964

4. % 1965

Question Number : 262 Question Id : 60092911325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 7 3 HH-U U 391 SRIIRM I Bt g1 82
Options :

1. #* HYRTIT

2. % JAR

3. % UdRIdq

4. % Uebid It

Question Number : 262 Question Id : 60092911325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 7 9 HH-T T A1 RIIR™ 9= ot T8l 72



Options :

1. ® HYRATT

2. % FARFF
3. ¢ JdIRIaq
4. % Uhid 9id

Question Number : 263 Question Id : 60092911326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A d JAEARTFY & GUS! &I gl ohH Jd13y|
Options :

1. % THIDHIS, STADIUS, YaDIUS, SAIATHIUS

2. % IRBIVS, YaXDIUS, AADHIUS, SUIATHIUS

3. ¢ SIABIUS, SRNATHIVS, 3RUGSD TS, fhiehrhiue,
4. % IRUIDIE , AYIETHIVS, AABIUS, YaidhIUs,

Question Number : 263 Question Id : 60092911326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JeRiepd IFARTHTH & WUS! T gt ohH FA13Y
Options :

1. % THIDHIS, TADIUS, YaxDIUS, SAIATHIIS

2. % JWPIVS, YDV, I1ABIUS, SIATHIVS

3. ¢ JIADIUE, SANATHIVS, SRUIH S, fhth=Thug,
4. % SRUDHIS , YIATHIUS, ITADIUS, YaihIUs,

Question Number : 264 Question Id : 60092911327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jaier a g dfdadl o forgesT aule fasar mar g2
o1 forg o T fag e



I 3 foe AR |

Options :

1. ¢ Ufd-Udt & Iy
2. % 3 3R gIet B
3. % SR 3R 3T BT
4. % AT IR T BT

Question Number : 264 Question Id : 60092911327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Joiard $d My dferdl # forgest quiH fasar mar g2
"5 forg 38 71l fog B

T T2 fo A |

Options :

1. ¢ Ufd-Uadl & Ty

2. % 3t 3R g3t B
3. % SR 3R ST &
4. % O IR = BT

Question Number : 265 Question Id : 60092911328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=m O AT BT Yahed gRARRTT s it 3 B iH- I fufa # foram

Options :

1. % §gd =i &l

2. « 9did THTHIUA DI
3. % QA T 1 UIft 1 =i &
4. % 304 FTegdId H

Question Number : 265 Question Id : 60092911328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T FRE=I TTHS BT Tha sRATRTT = off 3 - It fufa # foram

Options :

1. % qgd QM &l
2. « f9did ThTH U B

3. % QI T ! UIft 1 =i |
4. % 30U FTeghld H

Question Number : 266 Question Id : 60092911329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1991 H FIRST $UR TR B U fovd Diddl-H98 o ot il o1 A1fgd srepraHl REHR faar mam
Options :

1. % YU s Y

2. % g 3R it peTT R

3. % Q]

4.« T gad & § 9

Question Number : 266 Question Id : 60092911329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1991 H RS AR TR BT U by Hiddr-Tug & fore fgdl &1 s sibrad QIR fear mar
Options :

1. % g b U

2. % T3 3R e w8

3. % Qudihey

4.« T aad & § A

Question Number : 267 Question Id : 60092911330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fe dfsaat fog ofa ot 82

T Hafe deTi e

forelt IR MfE g forrd 1S, U8 3T § BT
Options :

1. % eriiard

2. % @

3. ¥ W

4. % HAR

Question Number : 267 Question Id : 60092911330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr dfet fra wfa o1 89

1 Hafg deil A

forct IR AifE g fUad w2, 08 ooig & BIcH
Options :

1. % JadGN

2. % |MH

3. ¢ Rad

4. % DR

Question Number : 268 Question Id : 60092911331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HgTed! aHl &1 HiadT SRR § o Udid AM®HR Xa-1d ford! 718 82
Options :

1. % O

2. % Rl

3. % IS

4. ¥ AUD




Question Number : 268 Question Id : 60092911331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HgTed! arl &1 piadT SRR § o Ui AM®HR Xa-1d ford! 718 82
Options :

1. % O

2. % Rl

3. % IS

4. ¥ AUD

Question Number : 269 Question Id : 60092911332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ud 1 Y DH1eg-Io-131l ! Tal hd § Tey
Options :

2.« Uceld, S, gTid, IrT

3. % I, IS, I8, Ucerd

4. % UcTId, TS, YT, GATid

Question Number : 269 Question Id : 60092911332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ud 1 99 Brou-I=13il 1 g1 o | TRy
Options :

2. ¥ Uead, o, g, Jren

4. % geTrd, TS, AT, JITTd

Question Number : 270 Question Id : 60092911333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YT TG A1 Bt HiadT FIagst & sirar § faraesT quis fasar man g2
Options :

1. ¥ T el Upid &l FreR g
2. % firedt gfran 4 faar 9ag &1
3. % 3O QRHT ATG BT

4. % ool TUTAhT B

Question Number : 270 Question Id : 60092911333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT TTG A Bt HiddT FageT & s § foreesT 9o fasar man g
Options :

1. ¥ U 3Pl Upid o1 grax gfan

2. % foped gfar O faar aog &1

3. % 3Ol R ATE Bl

4. % BT STUTTRTA Bl

Sub-Section Number : 2
Sub-Section Id : 600929724
Question Shuffling Allowed : Yes

Question Id : 60092911334 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

fFafifad saarur &) e gde ufey iR 3T Trifiid Uit & 3 7 sgficedl § @ 98t fideaa & gy

SR 39 STd 1 § fob SHIRY FRI&H BT AIH R HINT AT HIGHTT 81, 1Y & g8, B, U0 & J&HTH 3R 7R daad gaia g1

3R GHR UTGTSHH Y qUT 3R] & UIGTHH TR SUTRT 7 5Ih SHRT 30T GReplde IRERIS U9 sraggehdrsil &1 ufaf-iia 3 |
HRTT HTTS, HRATT S, HRTg G-H, 4R 43 3R HRE THISIRIRG &1 gH Fardi RIF ¢ 31 30T fR1emssd H o) R o
71 R S b1 I dfeid I@epR §H AP Jpid H Teb HeT Al DI S a7 g il i Uigh b1 ik 4 Giael R w1 8 | §H P
R Y T&1 I Sfig vare ¥ i R g1 € | fae=h ufdndt o=l & iR T T IR 30 R & uroft off 3o oiR srofle & & @l




¢ RIférd S SR ATHR SFdT & oiid W15 Sed T & | 3R fay IHid & T[aR 811 &1 5™ HRd U B T B 39 [T DI gRARUg g
HEI S GHT g |

Sub questions

Question Number : 271 Question Id : 60092911335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & TR AT BT ALY YR HINT 81 I g1 A1fg T2
Options :

1. * o Sl ol qI-fae i &1 7 81

2. % oo faq el 37 4= 1 TR ST Bl

3. % T faeeh ureusn wel 781 §

4. ¢ oo 9 & W H 310 41 b Ul HaeT Bl

Question Number : 272 Question Id : 60092911336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRféra S iR g 91 & & gRal & S¢- BT 31 HRUI Sd1T 82
Options :

1. % Fh| T JHH JHIH & HRUI

2. ¥ 30 g AT B ¢ o o faq=it ufget =o1iRa &1 IUTNT H3A &b BRI
3. % YR A¥pid & HRUI

4. % 3 & & HRUT

Question Number : 273 Question Id : 60092911337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tese & TR ford T o1 gTARUE g1 T 52
Options :

1. % T3 S 3R I ST & o9 D1 @5 A B TS &
2. % TR16THFH Y 0TI T
3. ¢ ST R=d 3 81 § SR 3%y TXpfd & IR 8 &1 H HRAT




4. % & T ATETH YR HTST IT ATGHTST 81

Question Number : 274 Question Id : 60092911338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T faedl & T HH-91 < o7 FHRIf Teg TR 82
Options :

1. ¥ ©I™Y

2. % gHS

3. % EDHR

4, % 79

Question Number : 275 Question Id : 60092911339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau TN ergwe &1 e Wivw fafay
Options :

1. % FHT 3R Riférd sar

2. ¢ fRefT b1 HremH

3. % fRraf

4. % GEpid

Question Id : 60092911334 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (271 to 275)

frafoad sraarur &) ergdes ufeu 3R ITR Treifdd Ul & fou My sgfised! ¥ § e} fAeeu 1 gy

SR 39 §Td 1 § T GHIRY FRI&T BT HIH R HTNT AT HIGHTT 81, 1Y & g8, B, U101 & J&HaH 3R 7R Faed gaia g1

3R GHRT UTSUshH GRIY qUT SHRDT & UTGTshH TR TYTRA 7 Gl SHRT (U] Hikpicich UFRISHT Td SaRaeharsfi T Ui & |
YR HTT3HT, YR S8, YR SR, R 6 iR YRR JHISTRIRG &1 g1 Fard RIF & S ST fRIeMhH T 10 R G
1 TR S b1 I dfed I@epR §H AP Apid H Teb Ao Al DI S a7 g il Tt Uigh b1 ik 4 @haen R w1 5 | §H P
TRWRT ¥ T8 e Sfia- yare ¥ M gr g1 e € | fac=f uftedt o=mi & 1fiar & 38 WR o= &R & woft off sFei 8iR sfofie & & @l




¢ RIférd S SR ATHR SFdT & oiid W15 Sed T & | 3R fay IHid & T[aR 811 &1 5™ HRd U B T B 39 [T DI gRARUg g
HEI S GHT g |

Sub questions

Question Number : 271 Question Id : 60092911335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & TR AT BT ALY YR HINT 81 I g1 A1fg T2
Options :

1. * o Sl ol qI-fae i &1 7 81

2. % oo faq el 37 4= 1 TR ST Bl

3. % T faeeh ureusn wel 781 §

4. ¢ oo 9 & W H 310 41 b Ul HaeT Bl

Question Number : 272 Question Id : 60092911336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrféra S iR g 91 & & gRal %S¢ &1 71 HRUI ST B |
Options :

1. % Fh| T JHH JHIH & HRUI

2. ¥ 30 g AT B ¢ o o faq=it ufget =o1iRa &1 IUTNT H3A &b BRI
3. % YR A¥pid & HRUI

4. % 3 & & HRUT

Question Number : 273 Question Id : 60092911337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tese & TR ford T o1 gTARUE g1 T 52
Options :

1. % T3 S 3R I ST & o9 D1 @5 A B TS &
2. % TR16THFH Y 0TI T
3. ¢ ST R=d 3 81 § SR 3%y TXpfd & IR 8 &1 H HRAT




4. % TR7&f1 T A1EIH YR UTHT T HTGHTST 81

Question Number : 274 Question Id : 60092911338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T faedl & T HH-91 < o7 FHRIf Teg TR 82
Options :

1. ¥ ©I™Y

2. % gHS

3. % EDHR

4, % 79

Question Number : 275 Question Id : 60092911339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T Y 3G &1 Ucidh Xve faRay)

Options :
1. % gy 3R fRferd s=dn
2. « fR1e &1 H1emy

3. % fRrem

4. % TIpId

Sub-Section Number : 3
Sub-Section Id : 600929725
Question Shuffling Allowed : Yes

Question Id : 60092911340 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)
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Sub questions

Question Number : 276 Question Id : 60092911341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT T B AT Y FT HIA DI HG 81 62
Options :

1. ¢ T 3 BIs TR T HY

2. % {5 IA AR AT

3. % fb I T HAW

4. % fb IU AN B

Question Number : 277 Question Id : 60092911342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ia o Fafa ¥ w1 R 82

Options :

1. % 5 39 9gd Sleg TR fear g
2. % for Frafa 39X o el 718

3. ¢ e AR fFu s fearmarg
4. % % IR RS B A Mg

Question Number : 278 Question Id : 60092911343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Hfd P T J1d SRAIPR 82
Options :

1. % foodft 1 JHUor

2. % fodit o1 e

3. % Tt ol fAafEd s
4. ¢ foodit o gz 4 e

Question Number : 279 Question Id : 60092911344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7TQ faent & T HH-T1 I BT [IAH Tsg 82
Options :

1. * Wy

2. ¢ gt

3. % foor

4. % fuy

Question Number : 280 Question Id : 60092911345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T b1 IfI 2o I
Options :

1. ¥ 98 go, § 9ar T g

2. % FSI 4, ¥ AT T 5|

3. % B YIGHY

4. % 91 9 IR

Question Id : 60092911340 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (276 to 280)

fafRed Frear & eyde ufey ok 39 Twiferd usil & fou T sgfawenl § ¥ Tel fawed &1 gy
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Sub questions

Question Number : 276 Question Id : 60092911341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT T Hid AT Y FT B DI HE 81 82
Options :

1. ¢ 1o IV BIS WA AP

2. % f& I AT gL

3. % {5 I ol waw

4. % fb IV AMTBI

Question Number : 277 Question Id : 60092911342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hia ot frafa @ w1 Rierd g2

Options :

1. % b IY 9gd veg T AR o T g
2. % fob Mg I Sl =refl 718

3. ¢ AW Fu s fearman g
4. % 5 AR RS B A m g

Question Number : 278 Question Id : 60092911343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B B T I SGIPR 82
Options :

1. % foraft 1 Iudur

2. % ot &1 e

3. % gl &l MIRd BT
4. ¢ Tt & gz | Xg

Question Number : 279 Question Id : 60092911344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ferg TTq fepedl # ¥ SIF-91 1 &1 faiH 2sa 82
Options :

1. % Ty

2. ¢ qitd

3. % foomn

4. % fUy

Question Number : 280 Question Id : 60092911345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIATY BT I MWD g

Options :

1. v A58 g9, ¥ 9arn T g

2. % B g9, H IaRT T g

3. % T YTGATY

4. % dig I THRT

Teaching Methodology
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Group Maximum Duration : 0

Group Minimum Duration : 180
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Edit Attended Group? : No
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Group Marks : 20

Is this Group for Examiner? : No
Teaching Methodology

Section Id : 600929604

Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929726

Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 60092911346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s also known as Chalk and Talk method.

Options :

1. # Technical Skill Oriented Method

2. ¥ Lecture cum Demonstration Method
3. % Lecture Method

4. * Assignment



Question Number : 281 Question Id : 60092911346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B! T 3R el [3fY & =y H +ff ST Sar g

Options :

1. % f&pd sfiuce Aye

2. ¢ ARR HH SHIRCTH TYS
3. % UFRR AYS

4. % 3(I3THC

Question Number : 282 Question Id : 60092911347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which model is more linked to concepts and principles developed in cognitive psychology?
Options :

1. ¥ Information Processing Model

2. # Personal Development

3. #® Social Development

4. ¥ Behavioural Method

Question Number : 282 Question Id : 60092911347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I HiSd IHTED AAaTH H [ApRia srauromst R Rigidl ¥ oifde J1 gof &7
Options :

1. ¢ STBHYA URIRAT Algd

2. % qufade faem™

3. % raTorep far

4. % fqgfaTRa Hyg




Question Number : 283 Question Id : 60092911348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of co-teaching, a support personnel and the classroom teacher instruct different heterogeneous group of students?
Options :

1. #* Supportive co-teaching

2. % Parallel co-teaching

3. % Complementary co-teaching

4. % Team teaching

Question Number : 283 Question Id : 60092911348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg TR & TB-R1e01 §, TeTad HHAR! 3R e e 3HE! & faftrs fawy g & A 3a 82
Options :

1. % g Tg-fRigm

2. ¢ AR Fg-fRuefon

3. % TR g-fRrefur

4. % o fRefor

Question Number : 284 Question Id : 60092911349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Charles Hockett, in which feature linguistic conversations are carried on through teaching and learning ?
Options :

1. % Displacement

2. # Productivity

3. ¢ Traditional Transmission

4. % Pattern Duality

Question Number : 284 Question Id : 60092911349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TR Bldhe & SR, forg afya T yToTs TR fRieror 3R SifART o Areny 3§ foram ST 82
Options :

1. % fawoe

2. #® Jdlgahdl

3. ¢ Cfe=d CiRIfBRM

4. % Yo gafferdt

Question Number : 285 Question Id : 60092911350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has two sub-skills namely, locating information and comprehending information.

Options :

1. ¥ Gathering Skills
2. # Reading Skills
3. % Speaking Skills
4. # Language

Question Number : 285 Question Id : 60092911350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& & SU-DINA &, 37T STHBRI BT Udl T 3R BRI B JHHT |
Options :
1. ¥ TR fered
2. # & pem
3. % HWifdh' feped
4. % ofae

Question Number : 286 Question Id : 60092911351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The three major classification of schema are linguistic schemata, content schemata and

Options :

1. # Structural Schemata
2. # Verbal Schemata

3. # Encoding Schemata
4. ¥ Formal Schemata

Question Number : 286 Question Id : 60092911351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 19 I FiffeRul feimfafess Whier, dhee Whirer 3R gl
Options :

1. % WaeRd Whicl

2. % gad W

3. % TDIST W

4. A Wi

Question Number : 287 Question Id : 60092911352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1s defined as "to ill-use, to misuse, or to insult".

Options :

1. # Fear of someone
2. ¥ Abuse

3. % Victim

4. % Harassment

Question Number : 287 Question Id : 60092911352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI "GSUTANT, HYTNT, TT 3THM HRA" & =0 J aRHId far man gl

Options :



1. % fpdt pr e
2. ¢ 3UReq
3. % gifsd

4. ® Idrsq

Question Number : 288 Question Id : 60092911353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Verbal comments is an example of

Options :

1. # Sexual Abuse

2. ¥ Sexual Harassment
3. # Authority

4. % Intimidation

Question Number : 288 Question Id : 60092911353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hifge fewforr BT IR & |
Options :

1. % G Q90T

2. g I

3. % HUDR

4, % Sl

Question Number : 289 Question Id : 60092911354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The term gender was first coined by in 1955.
Options :

1. * Noam Chomsky



2. ¥ John Money
3. #® Jerome Bruner
4. # Lev Vygotsky

Question Number : 289 Question Id : 60092911354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol Weg Ugell aR 1955 & GRTTTeT T AT
Options :

1. % 13T AHbI

2. ¢ S H

3. % SRIT R

4. % g IIFNHDI

Question Number : 290 Question Id : 60092911355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Commission laid stress on the use of objective type tests and internal assessment?
Options :

1. # Kothari Commission

2. % Radha Krishnan Commission

3. % Indian Education Commission

4. % Mudaliar Commission

Question Number : 290 Question Id : 60092911355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o<y SINT A T TSR B TRIET 3R SMaR® e &b ITANT R 99 fearn
Options :

1. % DGR HHIA

2. % Y HUMH HHIH



3. % ST TIH A HHIRHA
4. ¢ IR HHIRE

Question Number : 291 Question Id : 60092911356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The National Policy on Education, 1986 emphasized on continuous and comprehensive evaluation and the introduction of semester system from
the stage.

Options :

1. # primary

2. % upper primary
3. ¥ secondary

4. % higher secondary

Question Number : 291 Question Id : 60092911356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 292 Question Id : 60092911357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Whose services should be utilized by the university system for developing, designing and administering entrance tests for admission?
Options :

1. ¥ National Evaluation Organisation

2. % Program of Action

3. ¥ Minimum Levels of Learning



4. % Continuous Comprehensive Evaluation

Question Number : 292 Question Id : 60092911357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ PG ediehT I3
2. * PRIHH BRATS

3. % S{ITH BT FAqH TR
4. % Jdd YT ATYD Yedih]

Question Number : 293 Question Id : 60092911358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UGC stands for?

Options :

1. ¥ University Grants Commission

2. % Union Grants Commission

3. % Uniform Grants Commission

4. % Unity Grants Commission

Question Number : 293 Question Id : 60092911358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % g Yicq HHIRE

Question Number : 294 Question Id : 60092911359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is known as participation in illegal behaviour by minors?
Options :

1. ¥ Minority

2. % Adjudication

3. % Chronic Violation

4. ¥ Juvenile Delinquency

Question Number : 294 Question Id : 60092911359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fory ATETferT gRT $1dY Fa8R & YGRT & U & ST ST 82
Options :

1. % 3D

2. % JrafuH

3. % oI IR

4. ¢ TR 3WRTY

Question Number : 295 Question Id : 60092911360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is NIOS?

Options :

1. # National Indian Open Schooling

2. # Native Indian Open School

3. # National Institute of Open Shelf

4. ¥ National Institute of Open Schooling



Question Number : 295 Question Id : 60092911360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NIOS T JUf UU= &1 82

Options :

1. % A ST U W e

2. % Afeq e ofiuq Wpa

3. % 9Fd SHISCE 3% 31U et
4. ¢ AW SHIC S U IRl

Question Number : 296 Question Id : 60092911361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ernst Kretschmer classified people into four types namely pyknic, asthenic, dysplastic and
Options :

1. ¥ Athletic

2. # Phlegmatic

3. % Sanguine

4. # Choleric

Question Number : 296 Question Id : 60092911361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Qi
2. % TS
3. % A

4. % HIARD



Question Number : 297 Question Id : 60092911362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the ability to mentally arrange a series of elements according to increasing or decreasing size, volume, weight or some other dimensions.
Options :

1. # Centration

2. ¥ Seriation

3. % Self-concept

4. % Sociometry

Question Number : 297 Question Id : 60092911362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

96d AT YCd SHTDR, MY, IS U1 $S 3 MM b SFTIR Tl Bl T 4 DI HHRYD T J AfRYd PR D1 &HdT T H 13T
Options :

1. % YTC=H

2. ¢ YRTRH

3. % 3H-YRUM

4. % qIyAd

Question Number : 298 Question Id : 60092911363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which acronym is used to denote Five Factor Model of Personality (FFM)?
Options :

1. % ICE

2. % SEA

3. % SELF

4. ¥ OCEAN

Question Number : 298 Question Id : 60092911363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g uRauif Teg &1 TNT AfHId & U HR® AlSd B G & o fHar St g2
Options :

1. % ICE

2. % SEA

3. #® SELF

4. ¥ OCEAN

Question Number : 299 Question Id : 60092911364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which technique the leader follows a very democratic approach and helps guide the drama without steering the drama towards a certain
direction?

Options :

1. # Mantle of the Expert
2. ¥ Facilitation

3. # Role Play

4. % Simulation

Question Number : 299 Question Id : 60092911364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % O<d 3{h g TRIUe
2. « TfferewH

3. % A

4. % Rga=H

Question Number : 300 Question Id : 60092911365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which assessment helps in determining student’s prior knowledge before planning a lesson?
Options :

1. % Summative

2. # Formative

3. ¥ Diagnostic

4, % Cumulative

Question Number : 300 Question Id : 60092911365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TRTTHDB

2. ® JATHD

3. ¥ GRS

4, % G




